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The following table shows the percentage (%) increase in income and expenditure of various types
of Banks, namely PSU Banks, Old Private Banks, New Private Banks and Foreign Banks over the previous
year during the year 2021-2022 and 2022-2023. Based on the data in the table, answer the questions
that follow :

Income and expenditure details of Banks

Percentage Increase in
Bank type [ncome over previous year |Expenditure over previous year
2021-2022 | 20222023 | 20212022 |  2022-2023
PSU Banks 15% 17% 13% 2%
Old Private Banks | 20% 14% 15% 17%
New Private Banks| ~ 44% 37% 42% 4%
Foreign Banks 9% 12% 4% 11%

Note:  Inthe above table, the meaning of any figure x% is as follows :

() 2% in 2021-2022 means income or expenditure in 2021-2022 is x% more than that in
2020-2021,

() 2% in 20222023 means income as expenditure in 2022-2023 is x% more than that is
2021-2022

Sub questions

Question Number : 1 Question Id : 53307219741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the income of PSU Banks in 2020-2021 as ¥ 10,00,000 crore. If the expenditure of PSU
Banks in 2022-2023 is equal to the income of PSU Banks in 20202021, then the income of PSU
Banks in 2022-23 will be approximately % more than the expenditure of PSU Banks in
2021-2022.

(1) 62

(2) 44
(3) 56
(4) 64

Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 53307219742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[f the Expenclllum of for eign Banks in 2020-2021 is equa] to their income in that year and is equal
to T 60,000 crore, then in 2022-2023, what is the difference in income and Expendllme of Formgn

Banks ?

(1) ¥ 3984 crore
(2) 4000 crore
(3) ¥ 5462 crore
(4) ¥ 3460 crore

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 53307219743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the income of new Private Banks in 2021-2022 as ¥ 8000 Crore. If the expenditure of
new Private Banks in 2021-2022 is same as their income, then the difference in income of new
Private Banks in 2021-2022 and 2022-2023 will be approximately % of the difference
in expenditure of new private banks in 2021-2022 and 20222023,

(1) 52
) 76
) 84
) 118

2
(3
(4
Options :
1.1
2.2
3.3

4.4

Question Number : 4 Question Id : 53307219744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In 2021-2022, if the income of PSU Banks is twice the expenditure of Foreign Banks, then in 2022-
2023, what will be the ratio of income of PSU Banks to the expenditure of Foreign Banks ?

(1) 1:2
Q) 78:37
(3) 75:2
) 2:1

Options :



1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 53307219745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In 2021-2022, if the income of Foreign Banks is four times its expenditure, then what will be the
approximate ratio of income to the expenditure of foreign Banks in 2022-2023 ?

1) 1:4

o 4

(
(4

=

) 4:1
] B:1
| 158
Options :
1.1
2.2

3.3
4.4

Question Id : 53307219740 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension



foe e fefoe e 3 o) o 0.3, 9, R ol o, 7 it dfe o fecet ot %, 2021-
20223 20222023 % S T o %1 e, o1 9 o A v (%) f vt g1 e # v

2% R R, AR T 0T &
T% F - ) fawm
BIGHGE:
oF T T 9 1 go 3 T 3 1 e B o7
2021-202 002203 | 02202 | 20222023
1 em 7 o 15% 17% 18% 2%
o o 20% 14% 15% 17%
EIdEE e
44% 37% 42% 44%
foreyf) o 9% 12% 4% 1%

feoruft: vl afer o vl oft e o 1 9 e %
() 2020-2022 % x% F1 4 2020-2021 1 T § 2021-2022 § 1 5980 57 1% A B
() 20222023 % o% 1 ¥ 7 2021-2022 1 Tl § 20222023 § 319 S99l 74 1% aAfo ¢

Sub questions

Question Number : 1 Question Id : 53307219741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T TS o 2020-2021 % w3, o A T 10,00,000 9 §1 AR 20222023 F Rww, 8 A
o7 2020-2021 % 0,083, o # A9 & G €, o 2022-2023 § N.06F, 5 A A9 20212022 §
w9 g, I F 7 § wm % SeF 5 |

(1) 62

2 44
(3) 56
(4) 64
Options:
1.1

2.2

3.3
4.4

Question Number : 2 Question Id : 53307219742 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

afe 20202021 ¥ feestt 1 %1 o A T AW F WA & R TR T 60,000 T 2, A
2022-2023 3 foreh e 1 o1 & o 1 o ffry 7

(1) 3984 FE
(2) 4000 g
(3) ¥ 5462 FE
(4) T 3460 FE

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 53307219743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T wifere foF 70 ot e a1 o o 20212022 % T 8000 € o1 Afe 20212022 ¥ 7 Feh e
T T A F WA O, @ 2021-2022 3% 20202023 W A A F o S 2021202 3R
2022-2023 § 7 et ¥ & 1 % AR H T % T

(1) 52

(2) 76
(3) 84
(4) 118
Options :
1.1

2.2

3.3
4.4

Question Number : 4 Question Id : 53307219744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e 2021-202 % W.ww 3, I % A e o F oW AT E A 2022023, Wwwy, A3 &
o1 1 foeah 1 % o7 ¥ oFm fern 7
(1) 1:2

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 53307219745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 2021-2022 eyt o8] 1 13 36 48 W T €, T o 2022-2023 H focwh o i o7 1 I
o H T S 2

() 1:4
2) 4:1
B 5il
4) 1:5
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 533072774
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 53307219746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are the characteristics of mental development of Adolescents ?
A) Increased ability to deal with abstraction

(

(B) Reviewing of hopes and aspirations

(C) Increased ability to understand

(D) Increased ability to generalize the facts

(E)  Ability of problem solving

Choose the correct answer from the options given below :
() (B) (D) and () only

(2) (A), (B) and (D) only

) (4),(C), (D)and () only

(4) (C) and (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 53307219746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fereirl & wmfaes fasra &t fagmamd €

(A) 9R T H FAdeR A FI aftd arad
(B)  STOM3il I SATeRiamiall =l FHieN

(C) &9 I afefd Frgan

(D) TAl % FHFITHI Tl 9@ g3 Arddl

(E) EWEAT THIHM 1 A0

= feu Tu foepedl § 9 W&t 3T =5H HIA
(1) %= (B), (D) 3R (E)

(2) e (A), (B) 3R (D)
(3) A (A), (O), (D) 3R (E)
(4) o9l (C) R (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 7 Question Id : 53307219747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Knowing the importance of metacognition, Richa decided she would try to focus her young students’
attention on their own thinking skills. Richa knew by having her students “think” about their
thinking they would eventually increase their metacognitive skills, Which one of the strategy
should Richa employ ?

(I) Overlearning
(2) A KWL Chart
(3) Rote learning
(4)  An algorithm

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 53307219747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 8 Question Id : 53307219748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A sociulogy professnr wants to gal‘her student’s Opinions on controversial social issue discussed in
class which tools allow the professor to create polls and analyze responses in real-time ?

) Poll everywhere
Camtasia
Strawpoll
Survey Monkey
) Mentimeter

(A
()
(C
(D
(E

Choose the correct answet from the options given below :
(1) (A), (B) and (D) only

(2) (A), (C), (D) and (E) only
(3) (B) and (E) only

(4)  (B), () and (D) only
Options:

1.1

2.2

3.3

4.4

Question Number : 8 Question Id : 53307219748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YRISIYIA %1 T WA, e W =l Fe T foel fomeren senforer 38, o orena o e ST <1l
¢ fmfefs o 4 fa of (Svm) 91 7 R 5% fore-on & ferfel o R e S
IAfF 0 g R W 87

(A) e TR

Options :



1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 53307219749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Priya knows she did something embarrassing at her best friend's birthday party many years ago,
but she cannot remember what it was. This is an example of :

(I) Repression

2)  Amnesia

b

(
(3)  Implicit memory
(4) Interferences

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 53307219749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foe ot 91 ¢ 1o o o el ) ot erd e i o o e e e el o o9 e 3
fore o o] 8 % T 9 TRl €1 7% ek 9 o e €

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307219750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A science teacher assign students a project where they design and conduct on experiment to
investigate the effects of environmental factors on plant growth in real time. This assessment is an
Example of ?

(1) Summative Assessment
(2) Authentic Assessment
(3) Ipsative Assessment

(4)  Peer Assessment

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307219750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

% ot e foren i o) e Wit S 0 € 2] o W e R Aol A o
1 ST T F 09 O W W e TR R W e gl w0 § T qee

Options:
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 53307219751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[denlify the main preoccupations of quantitative researchers :
(A) Measurement

(B) Causality

(C) Emphasis on context

(D) Generalization

Choose the correct answer from the options given below :
(1) (A) and (B) only

() (A), (B) and (C) only

(3) (A), (B) and (D) only
(4¢) (B), () and (D) only
Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 53307219751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HTATCH SERaial o & RS i Je=r] Hig ;
(A)

(B) =hIUIAl

(C) Fed W

(D) HTHRHTRT

= feu 7o fasedi # 9 |E S F1 999 FI9
(1) Fad (A) 3R (B)

(2) = (A), (B) 3R (O)

(3) %A (A), (B) 3R (D)

(4) %99 (B), (C) ¥R (D)

Options:

1.1

2.2

3.3
4.4




Question Number : 12 Question Id : 53307219752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Your measurements should show which of the fullowing validities if you want to generalize the
results of your research to a different population ?

(1) Construct validity
2) Internal validity

3)  External validity

) Convergent validity

(
(3
(4
Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 53307219752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A 1 29
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(
2
(9)
(4) axfwm é?m
Options :

1.1

2.2

3.3

4.4

Question Number : 13 Question Id : 53307219753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II

(Abbreviations) (Meaning)
(A) id., (I) refer to
(B) post: (II) the same
(C) wvid (ITII) namely
(D) wiz., (IV) after

Choose the correct answer from the options given below :
(D) (A)-D), (B)-(I), (O)-(), (D)-(IV)
(2) (A, (B)-(1V), (O)-(D), (D)-(II)
(3) (A1), (B)-(I), (C)~(I), (D)-(IV)
(4)  (A)-(II), (B)~(1D), (C)-(IV), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307219753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 fAem i
Teii-1 TEt-11
(wfgrmamer ) (3ed)
(A) @€, O g
(B) UR=: (I ==
(C) fa= (II1) HrHe:
(D) fas, (IV) 9=rd

A= fou 7o fasedi § 9 W& W F 999 Ff9
(1) (A1), (B)-(I), (C)~(II), (D)-(IV)
(2) (A, (B)-(IV), (O)-(D), (D)~(IL)
(3)  (A)-(11), (B)-(1), (O)-(1), (D)-(IV)
(4) (A)-(II), (B)-(1D), (CO)-(IV), (D)-(I)

Options :
1.1



2.2
3.3
4.4

Question Number : 14 Question Id : 53307219754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A sampling technique that relies on getting information from people who know about a population
of interest rather than from members of that population themselves, refers to ?

()

(2)

(3)  Snowball sampling
(4)

Pmbabi]ity sampling
Key informant samp]jng

Quota sampling

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 53307219754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T YR T S 39 A | el e W fover gt ¢ o afvefa o e wuf A SRa § A
fep ¥ o9 TR & WeE @ el SR R, e €

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 53307219755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[denlify the measures of dispersion :
(A) Mean deviation

(B) Median
(C) Standard deviation
(D) Range

(E) Quartile
Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(2) (A)and (E) only

(3)  (A), (C) and (D) only
(4) (), (D) and (E) only
Options :

1.1

2.2

3.3

4.4

Question Number : 15 Question Id : 53307219755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yeh101H I WY Tl TE=H HifT ;

(A) Hre fe=e

(B) HIfeHeR

(C) ek fereeH

(D) WH

(E) IR

A feu T farehedi | GE ST = 9
(1) 9 (A), (B) 3R (O)

(2) A (A) R (E)
(3) F (A), () 3 (D)
(4) % (C), (D) HR (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 16 Question Id : 53307219756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When we describe how a media system should function in conformity with ideal values, it is
labelled as ?

(1) Social theory

(2
(3
(4

) Normative theory
) Comparative theory
) Analytical theory

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 53307219756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2 3 0 o 0 9 & 1 fot o e e el o o e et o e o o
%1 0 Aew o 39 fefarfen o & aiga o 1 2
1) i fagi

Options:
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 53307219757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sequential accounts, told from a particular viewpoint are called :
(1) Situational actions

(2) Social themes

(3) Narratives

(4) Dignified discourse

Options :

1.1

2.2

3.3
4.4

Question Number : 17 Question Id : 53307219757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ferdmy gfteepion & shfee STrsRoe faerull =i et < € ;
(1) Teafq daEt wH

(2) wrHIfseR fawa e
(3) @A
(4) TR0 oy
Options:
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 53307219758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Many modern scholars consider the following as positive aspects of communication which of them
are true ?

(A) Communication helps create knowledge

(B) It defines the human goals

(C) It supports efforts to change social morms

(D) It makes simple tasks complex

(E) It promotes propaganda techniques all the time
Choose the correct answer from the options given below :
(1) (A) (B) (C) only

) (B), (C), (D) only

3) (D), (E) only

@
® O

(4) (A, (C), (E) only
Options :

1.1

2.2

3.3

4.4

Question Number : 18 Question Id : 53307219758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(B) T TEd @l 1 vfenfid e g
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(D

(

=

) TTE T 1 e o €
E) 9¢ SHSR et ol Toeited & ¢ |

9 feu U fowedl 0 W S T Hie
(1) ¥ (4) (B) ()
() %@ (8) () D)
() @ (D),
(4)  (A), (). (B
Options :
1.1

2.2



3.3
4.4

Question Number : 19 Question Id : 53307219759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are part of narration ?

(A) A sequence of a beginning, middle and end

(B) Causal development between sequences and the conclusion
(C) Memorable phrases indicating what happened

(D) Absence of spatial context

(E) Exclusion of temporal factor

Choose the correct answer from the options g‘iven below :

(1) (A), (B), (C) only

2) (B), (Q), (D) only
(3) (D), (E) only
(4)  (A), (C), (E) only
Options :

1.1

2.2

3.3

4.4

Question Number : 19 Question Id : 53307219759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafea § 9§ #H9-3 99 &1 9 €2

(A) Y, 7Y AR 3id 1 STTHA

(B) TRy 3R frerd =1 2% fa=rr

(C) ¥ % Haiy § Hehd o4 aTc] TO vealY
(D) Tifek |y &1 9 B

(E) hIfcieh Rl o1 Sfgtho]

= feu 7o fasedi § 9 9E 3T F1 994 Fif9
(1) = (A), (B), (O

(2) =@ (B), (C), (D)

(3) 9 (D), (E)

(4) F=@ (A), (O), (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 53307219760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

List the following developments in a clu‘nncnlngical sequence :
(A) Invention of television remote controls

(B) Publication of diurnals

(C) Invention of camera

(D) Arrival of mass market paperbacks

(E) Origin of hieroglyptic writing system

Choose the correct answer from the options given below :
(1) (A), (©) (E), (D) (B)

(2)  (B), (D), (C), (E), (A)

(3)  (©), (B), (D), (A) (B)

(4) (), (B). (C) (D), (A)

Options :
1.1
2.2
3.3



4.4

Question Number : 20 Question Id : 53307219760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafea fasemi &1 Femd & T 70R g 98 F
(A) Zdifears % fie Fiel o aTfaern

(B) ofeR weRTgA

(C) AL H FAferer

(D) ¥R H a1 YA 9 UqTaih 1 3TH]

() Teafardia ci@= ol 1 3594

A feu T ferredl ® | W& ST Al =91 il
(1) (A) (©), (B), (D), (B)

(2) (B), (D), (O), (E), (A)

3)  (©), (E) (D), (A), (B)

(4) (E), (B), (O), (D), (A)

Options :

1.1

2.2

3.3
4.4

Question Number : 21 Question Id : 53307219761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

40 people consume 320 kg of rice in 50 days. In how many days will 30 people consume 80 kg of
rice ?

1
(1) 13; days

2
(2) 15; days

2
(3) 175 days

1
(4) 155 days

Options :



1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 53307219761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

40 7 320 e, = 50 foeff o 3990 0 €1 30 7 80 e, e e e vl =R
(1) 18%1%31‘1?
2) 16%1%:%‘1'13
(3) 17%1%#1‘1?1'

(4) 16% fe 7

Options:
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 53307219762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the selling price of Rs. 623 results in a discount of 11% on the market price of an item, at what
price should the item be sold to offer a discount of 19% ?

(1) Rs. 357

(2) Rs. 567
(3) Rs.577
(4) Rs. 587

Options :
1.1
2.2
3.3
4.4



Question Number : 22 Question Id : 53307219762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 623 774 31 fog! ahrwm Tl 72 31 fehl 19 1% 1 92 1 TR0 € o 30 78 W 19% 1 92
& ¥ foru S foert e W o o e

(1) 557 ¥

(2) 567 ¥

(3) 577 ¥
(4) 587 ¥

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307219763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the next number in the number series :
48, 24, 72, 36, 108, ?

(1) 115
(2) 121
(3) 110
(4) 54
Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307219763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fqu TTu foeredi # 9§ @ H&=A1 &1 FH |
48, 24, 72, 36, 108, ?

(1) 115

() 121
(3) 110
(4) 54

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 53307219764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a certain coding language, the word ‘GREAT" is coded as "ETCCR’, then the word 'FROWN'
will be coded as :
() DTMYL
() ETNWL
3) HTQYP
4) DSOXL

=y

Options:
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 53307219764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T fAfed Fechgs i § ¥ ‘GREAT' #1 ‘ETCCR' 8 #feq {1 511 €, 7 v FROWN' %1 F2
am:

() DTMYL

() ETNWL
(3) HTQYP
(4 DSOXL

Options :
1.1



2.2
3.3
4.4

Question Number : 25 Question Id : 53307219765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Trawlling in a train, a man notices 13 l'elephnne poles in two minutes. [f the two successive
telephnne poles are knowntobe 125m a patt, then the train s travelling ata speed of :

(1) 40 km/hr
(2) 42 km/hr
(3) 45 km/hr
(4) 48 km/hr

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 53307219765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o7 TH % SN, TF ST 7 13 26w e 2 el W S o S orpEi eaen U &
R AP @AM I T RA L)

(1) 40fH/9
() 4 fFd /4
(3) 45 fet/d
(4) 48 foefl /4
Options :
1.1

2.2

3.3
4.4

Question Number : 26 Question Id : 53307219766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



"Of course, abortion has to be lega]. After all a woman must have freedom to do whatever she
wants with her own body”. Identify the fallacy committed in this statement :

(1) Fallacy of composition
(2) Complex question

(3) Begging the question
(4) Hasty generalization

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 53307219766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

195G Tofa 2B frfer o ST <R | R, TRl e B A YR % W 9 o A A
TG 1 AT | 58 FeR H T R T

1) HIEG
)

(
(2
(3)  STenga 3
(4)  SfoEi S

Options:
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 53307219767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions is contradictory to the proposition “All cats are Carnivores” ?
(1) Some Cats are not Carnivores

(2) Some Cats are Carnivores

(3) No Cats are Carnivores

(4)  No Carnivores are Cats

Options :
1.1



2.2
3.3
4.4

Question Number : 27 Question Id : 53307219767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fretfefan & & #1-4 viefa, 38 vt fF g fafeemi wrawe & €, @i o ¢ ?
(1) %@ fafeerar sraveft w8 &t €1

(2) T fofeern wrave o € |

(3) FrE o forcelt rmee T8 e €

(4) FE oft wraweh foreeh 76 2t 2

Options :

1.1

2.2

3.3
4.4

4

Question Number : 28 Question Id : 53307219768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent ?
(A) No Carnivores are Cats.

(B) Some Carnivores are not Cats.

(C) All Cats are Carnivores

(D) All non-carnivores are non-cats

Choose the correct answer from the options given below :
(1) (C) and (D) only

(2) (A)and (D) only

(3) (A) and (B) only

(4) (B) and (D) only

Options :
1.1
2.2
3.3
4.4



Question Number : 28 Question Id : 53307219768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafga § § ®F-9 %A afFs gfe § guges ?
(A) oS off HrEvel faeeh 78 S B |

(B) F® Arams fowef 7& e €|

(C) Tt farfeemT aravyed 2t €|

(D) @it T-ntaweaf - fafeeral 2 €

A feu U fopredl § 9 HeIR SUeR I S =A RIS
(1) @ (C) 3R (D)

(2) 9 (A) 3 (D)

(3) A (A) R (B)

(4) %9 (B) 3R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 29 Question Id : 53307219769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is true ?

(1) Ina valid argument all of its premises have to be true

(2) Validity can be attributed to any single proposition by itself
(3) Truth and falsehood are attributes of single propositions
(4) Truth and falsehood can be attributed to arguments

Options:
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307219769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frfafea #H-31 F99 1 €72

(1) Tt 92 gfem o ot @it senfeammeti &1 5 2 orafer ¢ |
(2) forst e wfaatd oX S5ek g 21 S ORIt i S SRl €
3) ol IR S, kel Yfaaadl aeq ¢ |

(4) Tar ok ST i gfard R quRifad fea s e B
Options :

1.1

2.2

3.3
4.4

——

Question Number : 30 Question Id : 53307219770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Nyiya (Classical school of logic) which of the following step of inference corresponds
to Upanaya ?

(1)  The hill has fire

(2) Because it has smoke
()

(

4)  The hill has smoke which is invariably associated with fire

What ever has smoke has fire, e.g. an oven

Options:
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307219770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T (YR S Tt 3 SR A 1 fefaias SH-3 0 99 & SR 87
1) W H am el

2)  HF T YA

3) W oA R §, o el e & arelfa O g (a)

4) TS & S e w9 { o g ©

Options :
1.1

(
(
(
(



2.2
3.3
4.4

Question Number : 31 Question Id : 53307219771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following electronic technologies is the key technology for making the Personal
Computer (PC) in the 1970s ?

(1) Transistor based

(2
(3
(4

) Integrated components (ICs) based
) Microprocessor based
) Vacumm tube based

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307219771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frey 3 1 i TR 1970 e e v (R) ) o o e

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 53307219772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Cnmputer security breaches can be minimized b}f incorporating which feature into a computer
system’s operation ?

(1) Installation of software of user’s choice

(2)  The ability to log into multiple nodes, using only one account
(3)  Forced log off from the system if no activity has been detected
(4)  Allowing the uploading and downloading of files to the system

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 53307219772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FOE YA 2 et 3 £ W 2 o 9 e o e % R e s A o
o A ¢/

(1) T % ¥ % Hiwea A vaei &

(2) o T T o A 3R a5l Ae) W -5 et b Al

(3) % Tfefafts 3 2N %1 T A R R ¥ T i i g

(4) forem W wEEl F AVGIE 7 TRAGE T A SN &

Options :

1.1

2.2

3.3
4.4

Question Number : 33 Question Id : 53307219773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[dentify the sequence of words A-E that correctly fills the blanks in the following paragraph :

__is used to connect the smartwatch and wireless headphone to the phone and is a
range wireless technology. is used to connect the phone and the laptop

to the outside world called the “Internet” and it uses radio waves to allow high-speed data transfer

over short distances. is used to connect the phone to countless services via the “Internet”

and is a range wireless technology.

(A) Short

(B) Long

(C) Witi

(D) 3G/4G/5G

(E)  Bluetooth

Choose the correct answer from the npti{ms giv en below ;

(1) () (A) ©), ©) @6

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307219773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fe1 e o fra Tl 1 60 W o o 7 A-E W % 0 9 ) T A
F T TS 9 9 ¢ W W F fu R T M w
9 el S ST # 1 A B &R o9 15 o A Y 6 el A
et & fom e o & ol 7 g W o= e S e & el i # Em ww g
1 WA B I 3o o WA @ e Saell @ S  fau fE o € R w®

D)

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 53307219774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



With reference to computer components, which of the following statements are correct ?

(A) A hard drive has no moving parts.

(B) Fan s required to cool down CPUs so that these do not overheat,

(C) Accessing information in a hard drive is faster than accessing information stored in RAM.
en power is switched off, any information stored in a hard drive is lost.

When power is switched off, any information stored in a hard drive is lost

(E)  For a given amount of memory, RAM is more expensive than a hard drive,

Choose the correct answet from the options given below :
(1) (A), (B) and (E) only

) () and (D) only
3 (©) (D) and [E) only
(4)  (B)and (E) onl
Options :

1.1

2.2

3.3

4.4

Question Number : 34 Question Id : 53307219774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FOR TR & G H, Fe H A P T W § 2

(A) T g o HE Maviict T Tl & &

(B) e T, F T A T T F SATEFA QA & AE FTH A T
(C) o Trea W e TR SR, § e g S | sty ga o 2
(D) v fere ayfer o & < I € A ergrd § e ge oW 8 S €

(E) Hfd 1 TeT WHN 24, TTETRA I ST ST A, SHfen Hem g g

el feu T fersedt o § WY 3T 1 = HIAC

Options :
1.1
2.2
3.3



4.4

Question Number : 35 Question Id : 53307219775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - [ with List - I1.

List -1 List - 1I
(Computer Components) (Meaning)
(A) RAM (I)  Brain of the computer
() ROM (I) Stores the date, time and system configuration for
BIOS
(€) CMOS () Memory that can be written to and read from
(D) CPU (IV) Stores ‘boot up” program

Choose the correct answer from the options given below :
(1) (AHII), B)-(I), C-IV), (D))
V), (CHI), (D)-(1)

(2)  (AHII), (BH

(3) (A){), B)(I), (CH(1IV), DH(I)
() (AH1LV), (BHII), (CHID), (D)-(1)
Options:

1.1

2.2

3.3

4.4

Question Number : 35 Question Id : 53307219775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tell-1 8 GeEf-11 1 e it
Tl el

(W He ) ()
(A) ST, () R 7 e
(B) RN () % ot oms.20.0m, 2 fofy, W 9 e Swwm 1 e & ¢
(C) WA, (I1T) % e forg foran o1 o 9 sl ey o1 ok
(D) #h7 (V) ‘T2 479" T o HERT H ¢
A fou U foepedl § 9 W I 1 T FIoC ;
(1) (AHI), B, ©-IV), (D})
(2)  (AHII), BIV), (C)-(ID), (D))
() (A, (B, (O-(IV), D)-(m)
(4)  (AHIV), (BIHIL), (C)-(ID), (D))
Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 53307219776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Dysentery is a waterbome disease caused by water contaminated by :
(1) Virus

(2) Bacteria

(3) Fungi

(4) Protozoan

Options:
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 53307219776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Yferer st s T Fretifere o @ forad Hefia s/t & SR i S ®
(1)  feamy
(2)  iremy
(3) HAH

(4) RS

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 53307219777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following agreements/ protocols mainly focuses on the curbing of global
temperature rise ?

(1) Montreal Protocol

(2) Kigali Agreement

(3)  Kyoto Protocol
(

4)  Paris Agreement

Options:
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 53307219777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fretifera # 9 oG )/ Tamem # qem: ofvs aToen giE @ W B W a6 ol T §

(1)  Fitewe FAmR
(2) et Farem
(3) IR TR
(4) UfE TR
Options :

1.1



2.2
3.3
4.4

Question Number : 38 Question Id : 53307219778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A tsunami 1s a :

(1) Transverse wave

(2) Longitudinal waves

(3) Both transverse and longitudinal waves
)

(4) Neither transverse nor longitudinal wave

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307219778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

& 5

(3) ITIXY 3R e I ali
) AT ST A B e Al

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 53307219779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which one of the following is a chemical parameter to measure the water quality ?
(1) Turbidity

(2) Temperature
(3) Hardness

(4) Color
Options :

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 53307219779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sfet 1 TTer Hi9H o fore ffafaa | 9 sen qamafTes e @
(1
(2)

)
(4)

iR

Options:
1.1
2.2
3.3
4.4

Question Number : 40 Question Id : 53307219780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is not an air pollutant ?

(1) NO
(2) NOZ
(3) NO,
(4) N,
Options :
1.1
2.2

3.3



4.4

Question Number : 40 Question Id : 53307219780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfed o 4 = =51y ygwes 74 €2
(1) NO
(2) NO,
(3) NO,
(4) N,O
Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307219781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which was the first commission to touch upon the issues of higher education in India indirectly ?
(1) The Indian Education Commission (1882-83)

(2) The Indian Universities Commission (1902)

(3)  The Calcutta University Commussion (1917-1919)

(4) The Hartog Committee (1929)

Options:
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307219781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foFm v SR 3 A H 3 foen % R o Tt 9N W Seord foRan ?
(1) W foem s (1882-83)

(2) YR favafaerea s (1902)

3) IcTeR fovafaered SE (1917-1919)

(4) = |imfa (1929)

——



Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 53307219782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The N.N. Kunzru committee was formed to look into the issue of _ at the university
level.

(1) Administrative reforms

()

(3)  Sports education
(4)

Selection of vice-chancellors

Medium of instruction

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 53307219782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T, F% fifa 1 7, Fvafoare &R § i ) 9t 5 v F9 F fo
fepa e e

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 53307219783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



B}F 1946-47, the number of universities in India was :

(1) 12
(2) 14
(3) 15
4 17
Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 53307219783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a9 1946-47 TF 9T | Tovafa=mei =1 &= o

1y 12
2) 14
(3) 15
(4) 17
Options:
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 53307219784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following ancient universities was visited by the Chinese traveller Hiuen Tsang ?
(1
2
3

4

indraprastha

)

) Takshashila
) Nalanda
)

(
(
(4) Odantapuri
Options :

1.1

2.2

3.3

4.4



Question Number : 44 Question Id : 53307219784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e & 9 ®F | e favafemrera &1 ywo <= 4 goTH 9T g foan 2
(1) z=9%

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 53307219785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II

(Authors) (Books)
(A) Brahma Gupta () Lilavat
(B) Varahamihira (If) Brahma Sphota Siddhanta
(C) Bhaskaracharya (L) Natyashastra

(D) Bharatmuni (IV) Brihat Sambhita

Choose the correct answer from the options given below :

(1) (A1), (B)-(1), (CO)-(1V), (D))

(2) (A, (B)-(IV), (C)-(1), (D)-(LIL)
(3)  (A)HIV), (B)-(IL), (C)-(I), (D)~(IL)
4) (A1, (B)-(1V), (O)-(), (D)-(0)
Options :

1.1

2.2

3.3

4.4

Question Number : 45 Question Id : 53307219785 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 fAem i
Teii-1 TEi-11
(T ) (IR )
(A) R (O e
(B) =rsfAfE (I1) @ The fasgida
(C) HRRTEHE (III) Aregeme
(D) R4 A (IV) FeHfed

A= fou 7o fasedi § 9 W& ST F T9949 Ff9C
(1)  (A)-(1D), (B)-(I), (C)~(IV), (D)-(1I)

(2) (A1), (B)-(IV), (C)-(I), (D)~(III)
(3)  (A)-(IV), (B)-(1I), (C)-(1), (D)-~(LL)
(4) (A1), (B)-(IV), (O)-(I1L), (D)-(I)
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 533072775
Question Shuffling Allowed : No

Question Id : 53307219786 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the following passage and answer the questions,

Floods are normal events that cause damage. As rivers carve and shape the landscape, they build
broad ﬂoodplajns, level expanses that are periodically inundated. A “10-year flood” would be expected
to occur once in every ten years; a “100-year flood” would be expected to occur once every century. The
biggest economic loss from floods is usually not the buildings and property they carry away but rather,
the contamination they cause. Many human activities like paving roads and parking lots reduces water
infiltration into the soil and speeds the rate of runoff into streams and lakes. Even more than development,
though, flood-control structures have seperated floodplams from rivers. Levees and flood walls are built
to contain water within river banks, and river channels are dredged and deepened to allow water to
recede faster. Every flood-control structure simply transfers the problem down-stream. However,
the water has to go somewhere. If it doesn't soak into the ground upstream, it will simply exacerbate
floods somewhere downstream-leading to more levee development, and then to more flooding farther
downstream, and so on.

Sub questions

Question Number : 46 Question Id : 53307219787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

100 year flood" :
(1) Will happen every 10 years.

(2) Will never happen twice in the same year.

(3) May happen more frequently than a “10-year flood”.
(4) May happen once every century

Options :

1.1

2.2

3.3

4.4

Question Number : 47 Question Id : 53307219788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the biggest economic loss from floods typically due to ?
(1) Destruction of buildings

(2) Loss of life

(3) Contamination caused by flood waters

(4) Erosion of river banks

Options :
1.1
2.2
3.3



4.4

Question Number : 48 Question Id : 53307219789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How do human activities like paving the roads and parking lots influence floods ?
(1)  They reduce the severity of floods

'T‘

2)  They speed up the rate of run off into streams and lakes
4)  They have no influence on floods

(
(3)  They decrease the volume of water discharge after a storm
{

Options:

1.1

2.2

3.3

4.4

Question Number : 49 Question Id : 53307219790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How do flood control structures like levees and flood walls affect downstream areas ?
(1)  They prevent floods

2)  They reduce flooding in all areas

3

4) They increase the absorption of water upstream

(
(3)  They transfer the problem downstream, excerbating floods there
(

Options :

1.1

2.2

3.3

4.4

Question Number : 50 Question Id : 53307219791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What do broad floodplains, created by rivers often lead to ?
(1) Higher mountain formation
) Damage soil condition
(3) Periodic inundation
)

(4) Formation of lakes
Options :
1.1

2.2



3.3
4.4

Question Id : 53307219786 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 53307219787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“100 adE TR :

(1) 9% 10 991 § AT

(2) UH B Y H G AR FHH Tal AT

(3) Uk ''THadEa’ W ger H sy TR s
(4) U TSI H Uk 9 3T ekl ©

Options :

1.1

2.2

3.3
4.4

Question Number : 47 Question Id : 53307219788 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

g ae 9 fFe o watfies sfeds af ardt €2

(1) W& #1 T2 2

(2) S =

(3) @@ % U ok FROT GG
(4) <1 T2 o FE
Options :

1.1

2.2

3.3

4.4

Question Number : 48 Question Id : 53307219789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR TG T A I & e T A Y W A § AT R R Y e € 7
(1) 358 o F fosffoe % 2 €|

() 3o e o el A o R 3 o 9 vfe @ I 2|

(3) 3R fore U 3 T R 3 o 1 e W €

(4) 3 AR R Y6 T I ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 53307219790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

st 7 g T Sref g P STt Srvae & a1 foFm arme ot el 7

(1) 9% &M ¥ T & |

(2) o Heft & H g ST W HA o

(3) 9 0 T YRR ST 6 T e ¢ o ol g i fef aem @ o
(4) T FO IR A SR e At T 6 GG H T 9 Al ¢ |

Options :



1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 53307219791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el g fAfia =T a1gdd &1 ok HROT agHT =1 B ¢ 7
(1) ST geiq fmio |

(2) Tzt = feafa @@ 2 ©

(3) THI-THT TR SFATAE Brel © |

(4) e = fmior dar €
Options :
1.1
2.2
3.3
4.4

Women Studies

SectionId : 533072260
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 533072776
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 53307219792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Women face issues relah‘ng to vocational training and the work environment that prevents them
from entering the job market and adversely affects their in work.

(I) Productivity
(2) Participation
(3)  Progress
(4) Capacity

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 53307219792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e AR T 3 e Ot & Tt o e 1 W F § W T A & o A
Yol 01§ R S, B A A A o a¥e § §fan A ¢

(1) 3G &l

(2) e
(3)
(4) &
Options :
1.1

2.2

3.3
4.4

Question Number : 52 Question Id : 53307219793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which development feminist wrote the book ‘Money can’t buy me Love’ ?
(1) Bina Agarwal

(2) Martha Nussbaum

(3) Gayathri Chakravarty Spivak

(4) Naila Kabeer

Options :
1.1
2.2



3.3
4.4

Question Number : 52 Question Id : 53307219793 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

for Tompraame TRiETEr 3 Qe " wel e W o o ferdi 2

(1) &1 3RrErE

(2) Il THEH
(3) T =shedl foemes
(4) A FHER

Options :

1.1

2.2

3.3

4.4

Question Number : 53 Question Id : 53307219794 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
Which of the Indian feminists wrote ‘Under
Discourses ?

(I) Chandra Talpade Mohanty

(2) Nivedita Menon

(3)  Arundhati Roy

(4) Mita Deka

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id
Correct Marks : 2 Wrong Marks : 0

Western E}fes’ Feminist Schnlarship and Colonial

: 53307219794 Question Type : MCQ Option Shuffling : No



forg syt et 3 aret A o Sffre whierfim we S feeps’ for ?

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307219795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sexual Harassment was criminalised in 2013 and spelt out as a pum'shable oftence under which
Indian Penal code ?

(1) 354 A of the IPC
(2) 355 A of the [PC
(3) 356 B of the IPC
(4) 356 A and B of the [PC

=y

Options:
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307219795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YT TV e F1 R O F o AW S F 2013 § e e T e ve
Y % €Y § e 7

(1) STEHE 3 om0 354 A

2) ST A SR 355 A

%) S A EN 356 B

4) ST T 9N 356 A B

Options :
1.1

(
(
(



2.2
3.3
4.4

Question Number : 55 Question Id : 53307219796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which feminist theory emphasizes how media text and discourse reinforce patriarchal
ideologies ?

(1) Marxist feminism

(2
(3
(4

) Postsstructuralist feminism
) Black feminism
) Arab feminism

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 53307219796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B 9 T fagr, e fom o foms! form yom fogemons fommemet #1 yaa #d & T 9@
@

)
() TH-GEER) T
(3) 3ol AR
(4) 3@ e
Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 53307219797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which theory is introduced by Albert Bandura ?
(1) Cognitive theory

(2) Social learning theory
(3) Theory of Motivation
(4) Attribution theory
Options :

1.1

2.2

3.3

4.4

Question Number : 56 Question Id : 53307219797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Feee dgl g Tohg Tagr=a o1 weqa feram i ?

(1) 49 Mg

(2) wHIfSTeR S fagT
(3) SRR w fHgr

(4) Tom fEETd
Options:

1.1

2.2

3.3

4.4

Question Number : 57 Question Id : 53307219798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who was the first woman speaker of Lok Sabha ?
(1) Aruna Asaf Al

(2) Indira Gandhi
(3) Meira Kumar

(4) Annie Besant

Options :

1.1

2.2

3.3

4.4



Question Number : 57 Question Id : 53307219798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sk G kT 9oH Hieon s1e9e] (THiRt) of ?
(1) 37U AHF el

) i e
(3) I FHR
) T SEE
Options :

1.1

2.2

3.3
4.4

Question Number : 58 Question Id : 53307219799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Trans-Gender [henr}r belnngs to :

(1) Marxists

(2) Socialists

(3) Liberals

(4) Post-modernists
Options :

1.1

2.2

3.3

4.4

Question Number : 58 Question Id : 53307219799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I-Siel fagr 39 ©

(1) W

(2) HHTSETE]

(3) SEREw

(4) SE-anyfAeRaTEl

Options :



1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 53307219800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the primary goal of the National Education Policy regarding womens education ?
(1) To focus on women in higher education

(2) To ensure equal educational opportunities and promote gender equity
(:
(

3)  To limit educational access based on gender
4)  To provide education for marginalized women

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 53307219800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et fen wifa &1 wieensd &1 fan & gfq e @eg #=n 8 ?

(1) == foren o wfeeneti W eam-isa &

(2) T dferer sTeEi 1 AT w2 Sivet THdT 1 Weded oA
(3) SR R suiiia Aferer wga 1 Hiftm wT

(4) ufega wleenst =1 foen Iverey Ml

Options :

1.1

2.2

3.3
4.4

Question Number : 60 Question Id : 53307219801 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What was the main focus of the Eigth Five-Year plan regarding women's issues ?
(1) Women's welfare

3)  Women's empowerment

2)  Women's development
4)  Women's health

{
{
{

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 53307219801 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

STl TeEia ArsHl 1 Hieensti % Haal & G H Y& i 1 o1 7

(1) Wfee e

(2) wieet fererrd

(3) e iR
(4) wieen @
Options:

1.1

2.2

3.3

4.4

Question Number : 61 Question Id : 53307219802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which article of the Indian Constitution allows for specia] provisions for the advancement of women,
even if 1t leads to discrimination based on sex ?

(1) Atticle 15(1)
() Atticle 16()
(3 Atticle 150)
() Article 14

Options :
1.1
2.2
3.3



4.4

Question Number : 61 Question Id : 53307219802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WA ST 31 1 9 e, Hienal #l 37, e 9% foff % SR W 5 9 3 ), fary e
3] ST <l &/
(1) &R 15(1)

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 53307219803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The lack of legal awareness of the working woman is regarded as a major obstacle for obtaining
the benefits provided by the laws.

(1) Labour

o
(3) International
(4) Moral

Organizal'innal

Options:
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 53307219803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3
4.4

(
(
(

Question Number : 63 Question Id : 53307219804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The process of reaching the benefits to the grassroots is defined as :
(1) Trickle down effect

(2) Decentralisation

(3) Deconcentration

(4) Urbanization

Options:

1.1

2.2

3.3
4.4

Question Number : 63 Question Id : 53307219804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A P ST T TeaH Fi 9w e w9 i fen e
(1) feoral o= 99@ (gl ¥ e & 3 9A9amE & 99e)

) fas=sia
3) fags=m
(4) vEdE
Options :

1.1

2.2



3.3
4.4

Question Number : 64 Question Id : 53307219805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who has published the book ‘The Feminist Stand-point Developing Ground for a Specifically
Feminist Historical Materialism in 1983 ?

(I)  Friedrich Hegel

(2) Nancy Hartsock

(3) West and Turner

o

Caroline Moser

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307219805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T € i RUETE: S T B o Wi S feeita Seftafa’ #1983
T} for eIt o 7

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 53307219806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What challenge is often faced by committees while implementing policies on women's education ?
(1) Lack of International Education

(2) nsufficient technological innovation

(3)  Cultural resistance and socio-economic barriers

(4)  Over production of educational materials

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 53307219806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wfufadi g wfeen fen it et om #0 qwa for < &1 90 [T foran s & 2
(1) e faen 1 a9

(2) H9E YT TarR
(3) Hipfas FiqY SR HHieE-HdE A
(4) Viferr gl 1 sifafaa sered
Options:
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 53307219807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Gender denotes women, men and other genders depending on factors'.
Socio-cultural

)

) Biological
)  Physiological
)

[’syehnlngical

Options :
1.1
2.2
3.3
4.4



Question Number : 66 Question Id : 53307219807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sfet afgenadl, gedi 9 o Sed &1 gud ¢ ST TR ST B

(2) Sifa®
(3) W
(4) wACTE
Options :

1.1

2.2

3.3

4.4

Question Number : 67 Question Id : 53307219808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following factors has contributed significantly to the evolution of the traditional
domestic division of labour in contemporary western industrial societies ?

(I) Decrease in female work force participation

2)  Cultural shifts towards shared responsibilities

3

(
(
(4

) Reduction in household appliance usage
) Reinforcement of traditional gender roles

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 53307219808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Ftferfin W ¥ o 2reeh + GaTcrsh TIveTcd SEfTes SWIe H 9 o TRFeh e faviem & Fie
forkr 1 T %9 4 AR fen &7

(1) i e eIt B

(2) W e &1 SR He
(3) O] ST o IEM A g9

(4) T S YRR e

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 53307219809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Marxist Feminist, what is the primary goal of analyzing gender relations ?
(1) To understand how gender relations are influenced by cultural practices and traditions

() Toidentify how gender relations operate in the society and how they are connected with the
process of production and reproduction

(3)  Topromote the idea that gender relations are solely based on individual choices and personal
preferences

(4) To argue that relations have no significant impact on the processes of production and
reproduction

Options:

1.1

2.2

3.3

4.4

Question Number : 68 Question Id : 53307219809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(4) 7% T T foF et T 1 Iee S TR o WAl W A MOF 99 K

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 53307219810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements describe Women Studies according to Bowles and Klein ?
(1)  Women studies primarily focuses on reinforcing traditional academic disciplines

(2) Women studies seeks to maintain the existing structure of knowledge

(3) Women studies radically challenges the distribution and generation of knowledge

(4)  Women studies places society at the centre of its analysis
Options:

1.1

2.2

3.3
4.4

Question Number : 69 Question Id : 53307219810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefid | R 9 FF aied SR Fie & ATIR B AT a0 F 87
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4) T S T B o faver % S W T R

Options :

1.1

2.2

(
(
(



3.3
4.4

Question Number : 70 Question Id : 53307219811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who coined the term "Missing Women' to reflect on the declining sex ratio in developing
countries ?

(I) Raja Ram Mohan Roy

(2) Amartya Sen

(3) Abhijit Banerjee

(4) Vandana Shiva

Options :

1.1

2.2

3.3

4.4

Question Number : 70 Question Id : 53307219811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forehreiiel S¥ H Het it ST b1 Yeid o o feru fobe *fofig o’ e o fewion fopan 2

(1) T T Hied T4
(2) &

(3)  afife St
(4) =< fomn
Options

1.1

2.2

3.3

4.4

Question Number : 71 Question Id : 53307219812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Women Component Plan was initiated in which five year plan ?

(1) 8t five year plan

(2) 9 five year plan

(3) 10% five year plan

(4) 111%™ five year plan



Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 53307219812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fore deraia AT | wfge S2e ASHEl o1 UREy foRan T on ?
(1) 8= gaaia FrsHl

(2) 9 Y=EHE FieH

(3) 108 d=adg Are
(4) 11 d=Erdta FreE
Options :

1.1

2.2

3.3

4.4

Question Number : 72 Question Id : 53307219813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who defined entrepreneurship from the perspective of economics by focusing on the perception of

new economic opportunities (invention) and the subsequent introduction of new ideas in the

market ?

(I) Schumpeter

) Drucker
3)  Smith

) Marshal
Options :
1.1

2.2

3.3
4.4

Question Number : 72 Question Id : 53307219813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 53307219814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Entrepreneurship is recognised as a key element for women's _ empowerment in the

1995 Beijing platform for action.

(1) Social

(2) Livelihood

()

o

Status
Economic

Options:
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 53307219814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1995 % WS wiewH B R H S B Mo F Wi & UM 0 T
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(1)

() e

(3) R/ fefd

(4) i

Options :



1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 53307219815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the fnllnwin_g 1s not a women's intitative ?

(1) Naga Mothers Association
(2) Meira Paibis

(3) Mahila Samakhya

(4) Nagalim

Options :

1.1

2.2

3.3

4.4

Question Number : 74 Question Id : 53307219815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fefafas § | Fa faeey afeansdi =1 ysa 7€ €2

(1) Fm g FERn
(2) HI aEE
(3) Hfee qHEA
(4) Armfe™

Options :

1.1

2.2

3.3

4.4

Question Number : 75 Question Id : 53307219816 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In which year did Women Studies emerge as a distinctive and integrated field of study ?
(1) 1968
(2) 1970
(3) 1976
(4) 1980

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 53307219816 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forg a9 § B SR I F U fafTe o A &7 ok w9 Y 339 gan
(1) 1968

(2) 1970
(3) 1976
(4) 1980

Options:

1.1

2.2

3.3

4.4

Question Number : 76 Question Id : 53307219817 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

'The one-stop centre (OSC) was launched by the Government of India to provide integrated support
and assistance to women affected by violence’ In which year was this scheme launched ?

(1) 201
(2) 2010
(3) 2015
(4 2022

Options :
1.1
2.2
3.3
4.4



Question Number : 76 Question Id : 53307219817 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WRG HER G fR-gufan Afecel i T TR SR He Sy T o fau - H
(SiTHRl) A YeaT 9 g7

(1) 2011
(2) 2010
(3) 2015
(4)

4) 2022

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 53307219818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which are the major movements that influenced the development of Women's Studies course in
the late 1960's ?

(1)  Environmental movement and health movement

(2)  Civil Rights movement and Anti-war movement

(3) Labour movement and Immigration movement

(4)  Technological revolution and space race

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 53307219818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1960 % <9 % o § T ST TITHY & foer o @ erier Ayt fan?
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Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 53307219819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What types of Folk arts are mentioned as a part of Alternative media ?
(1) Dance and Music only

(2) Novel writing and Poetry

(3) Street play, Role play, Dance, Dramas
(4) Television Dramas and Cinema
Options :

1.1

2.2

3.3

4.4

Question Number : 78 Question Id : 53307219819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

0 Y 1 ik el 1 Sieas HiEd & 9 % ®Y § Ioord T S £ 7

(1) 9 Je4 R Hha
(2) YA TG SR Ffor
(3) TS TeF, ifn Fefe, T, e
(4) Ceifors T N e
Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 53307219820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which approach shows education to be a pathway to overcome deficit in women's resources and
skills ?

(I) Capacity Building approach

(2) Empowerment approach

(3) Progressive approach

(4) Holistic approach

Options :

1.1

2.2

3.3
4.4

Question Number : 79 Question Id : 53307219820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

P F1 39T 916 1 wfeen & WEER SR Fen W o wm A o A 6w W fomd €7
(1) &

(2)  HoTfeRRTT
(3) wfaEiia
(4)
Options:
1.1

2.2

3.3

4.4

Question Number : 80 Question Id : 53307219821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The expansion of EIP is entrepreneurship programme.
(1) Identification

(2) Implementation

(3) Initiative

(4) Indicator

Options :
1.1
2.2
3.3



4.4

Question Number : 80 Question Id : 53307219821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

EIP (33TEq) &1 o1 ¥9 T==Rivm T ¥
" T

(2) SEEAHIIE

(3) wfemfes

(4) FSTheT

Options :

1.1

2.2

3.3

4.4

Question Number : 81 Question Id : 53307219822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When did the feminist use ‘Narratology’ as a medium ?

(1) 1940’s
(2) 1950’s
(3) 1960°s
(4) 1970’s
Options:
1.1

2.2

3.3

4.4

Question Number : 81 Question Id : 53307219822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Irranfedl A ' s’ 1 SYE U 0TI o B9 § e TR ?
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(2) 1950 % < H
(3) 1960 % T¥F H
(4) 1970 % <F H



Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307219823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If women obtain appropriate training opportunities they will have control over the present and
future _req uirements.

(1) Trade

2

(3) Business
g

Job market

Government

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307219823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 83 Question Id : 53307219824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tick the correct one :

(1) Custom refers to the established modes of thoughts and action
(2) Custom helps in the process of change

(3) Custom promotes women's development

(4) Custom leads to growth of society

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 53307219824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el &1 =97 F1

(1) wen Temai TR foran o6 wenfua wmeai &1 fAfde S 8
(2) W UREd i GfhAr H Sl Sl © |

(3) Wen wigen faswm #1 deafed Fdl €|

(4) e HES H gfg H SR T A ¢

Options :

1.1

2.2

3.3

4.4

Question Number : 84 Question Id : 53307219825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following measures will combat dowry ?
(1) Ignoring cultural traditions

(2) Increasing the practise of dowry

(3) Strengthening assistance mechanisms
(4) Promoting dowry in certain regions
Options :

1.1

2.2

3.3

4.4



Question Number : 84 Question Id : 53307219825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafea § 4 9@ @ 525t 59 fars | o2q &t yxarfaq fafi 22
(1) Wiepfas quaast Fi 39

(2) =EAYATH I

(3) HETk T 1 Yol

(4) Fo oo & § ges i deaited
Options :

1.1

2.2

3.3

4.4

Question Number : 85 Question Id : 53307219826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How does secnndar}f education impact women's health outcomes ?
(1) It has little or no impact on health outcomes

(2) It only affects knowledge of HIV prevention

(3) It does not affect attitudes towards genital cutting

(4) It significantly improves the use of maternal health services
Options :

1.1

2.2

3.3

4.4

Question Number : 85 Question Id : 53307219826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TreAfier foren forg werm wfeenesii & Taren aftomy 1 gufad S €2
(1) 3O e 9o W 3ered | i JoTd el o |

(2) IE FIA TISTEAT I UFHATH o T bl YHIfad HLAT € |

(3) & SHA I FeA Fi ATl Sl g9fad T |

(4) T AIg Gl F 3TN H WfF I Y GURAT 2 |

Options :



1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 53307219827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What 1s Contraceptive Pprevalence Rate 7

(1) Percent of women of any age using contraceptive method at a particular point of time
2)  Percent of children born after using contraceptive methods

(

(3)  Percent of men using contraceptive method in a particular time

(4)  Percent of women (or partner also) of reproductive age using contraceptive method at a
particular point of time

Options :

1.1

2.2

3.3

4.4

Question Number : 86 Question Id : 53307219827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T-FoR1ee =R R 7
(1) T o w0 -fo o e S At for o 9 1 afeenal @ v
2) TR IR A TN A o S T o i He

) T oy Ta R - TR0 ] R ST el T Yo
4) o o T W - & T A AR o S 9 3 Aeae (31 e f) #

B[

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 53307219828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which Indian playwright first directed an all women’s play in 1888 ?
(I) Mahatma Gandhi

(2) Vijay Tendulkar

(3) Girish Karnad

(4) Rabindranath Tagore
Options :

1.1

2.2

3.3

4.4

Question Number : 87 Question Id : 53307219828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foFg TRFER A 1888 H WAYYH THAE HiRl BN 9 TeE 1 ey fwan?
(1) v e

(2) foem GgeER
(3) T FAre
(4) oy &R

Options:

1.1

2.2

3.3

4.4

Question Number : 88 Question Id : 53307219829 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Food Security Act (2013) does not deal with :
(1) Mid-day meal scheme

(2) Public Distribution System

(3) National Nutrition Supplementation Programme

(4) Integrated Child Development Services

Options :
1.1
2.2
3.3
4.4



Question Number : 88 Question Id : 53307219829 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T @rE gL stufaay (2013) 9 9 grafa 726 ¢
(1) HeAE IS IS

(2) HreSieR foaaTor gomet
(3) A IO ST FrRH
(4) THIFA 9 fohre Famd
Options :

1.1

2.2

3.3

4.4

Question Number : 89 Question Id : 53307219830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who gave the concept of ‘Intersectionality” ?
(1) Kimberle Williams Crenshaw

(2) Adrienne Rich

(3) Jill Johnson

(4) Mac Kinnon

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 53307219830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST (F=aaRHfere) i Hehedal fere &7
(1) Tervaet fafeag =t

(2) Wsw A
(3) o S
(4) HeR TR

Options :



1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 53307219831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following explains the concept of ‘Strategic life Choices” ?
(I) Choices that enhance an individuals immediate well-being

(2)  Choices related to every day activities and tasks

(3) Choices that have long term implications on a women's life and status
(4) Choices imposed by external factors such as family or society
Options :

1.1

2.2

3.3

4.4

Question Number : 90 Question Id : 53307219831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafa & 9w Lofor aEwarsas’ # Yoo i AR FAa© 7
(1) e S Al & awehiers S &1 GauT F3d §

(2) wfafer =t nfafafirE sk @@t 4 g 99

(3) e Hfgen o e i feufa W Srematyes stfawda ar =a59
(4) RER =1 FHS S 9@l FER G 9 T g

Options :

1.1

2.2

3.3

4.4

Question Number : 91 Question Id : 53307219832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The efforts of Government of India and United Nations to address Womenin Develnpment-Arrange
in chmnological order :

(A) Millenium Development Goals

(B) National Policy on Empowerment of women
(C) National Rural Livelihood Mission

(D) Shram Shakti

Choose the correct answer from the opl'iuns given below :

(1) (@), 6)©) [0

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 53307219832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foehrg el T A 3 % foru e R Sl TR T T (ST ) % W o Ay
T} e % |

(A) Hewfe foerre v (frrefm e i)

(B) g wfeen Fufdaer Hfd (Fer T i T i o)

(C) T i it o (FoFTet 0 e fo)

(D) 4 v

At feg T foreet 9 WGt S 6 o T

() (A) ®). (), (D)

2 () (€ (D), (4)
(3) ) (), () (&)
4 () () (&) D)
Options :

1.1

2.2

3.3
4.4



Question Number : 92 Question Id : 53307219833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange in ascending order the feminist scholars who have contributed to feminist scholarship :
(A) Veena Majumdar

(B) Falvia Agnes
(C) Sharmila Rege
(D) Samita Sen

Choose the correct answer from the Dptiuns given below :

(1) (©) (B), (A)and (C)

(2 (A) (D), (B) and ()
() (), (C) (D) and ()
(@) (A) D) (C) and (B)
Options :

1.1

2.2

3.3

4.4

Question Number : 92 Question Id : 53307219833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT fagri = el fog | AreH & SARE FH H afd #

(A) STom HHER

(B) el Y
(C) e

(D) gfHar &4

= feu 1o fosredi § € W& SO 1 99 Hifod
() (D), (B) (A) 3R (C)
2 (A), (D), (B )3?“{{3)
(3) (B), (O), (D) &R (A)
4 (A), (D), (C) ¥R (B)
Options :

1.1

2.2



3.3
4.4

Question Number : 93 Question Id : 53307219834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is related to first wave feminism ?

(I)  Centred on issues of Equality and discrimination including workplace reproductive rights de
facto equalities

(2)  Focused on legal issues primarily on the right to vote

(3) Characterised by the use of technology and social media to address issues like sexual
harassment, gender based violence, along with an emphasis on intersectionality

(4) Emphasised diversity, intersectionality and individuality challenging definition of femininity
and advocating for a broader range of identities

Options :

1.1

2.2

3.3

4.4

Question Number : 93 Question Id : 53307219834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et fou o foemedl 9 yom T T % eS0T A

(1) T 3R 5 19 % EEl W i, T e e e o o Samaa &
TEe gffer 9 |

Y1 75q) 0Ty ®9 § FAHR T A

A Fitey, et Mt fEe & Wo-qy SRR W 96 W e ) g & & fo
TRt R 61 Hifedn % 37m g foutwe 3 fern T

(4) Tl T TR B A oA BT SN EHH F O g 40 O e gu fofa,
ST SR o feera W el e

Options :
1.1
2.2
3.3
4.4

— p—
3 3
— b

Question Number : 94 Question Id : 53307219835 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Arrange the following Acts in a chronological order :

(A) Criminal Law Amendment Ordinance

(B) Prohibition of Child Marriage Act

(C) Indecent Representation of Women (Prohibition) Act
(D) Protection of Children from Sexual Offence Act
Choose the correct answer from the options given below :
(1 B), (©) (A), (D)

(2) (), (B), (D), (A)

(3) (D), (A) (©), (B)

4) (A), (B), (©) (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 94 Question Id : 53307219835 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frAfcfEd =61 FIeTgwd H Hafedd & ;

(A) TR FA GIMEA AR

(B) =T forame wfauy sifufam

(C) Bt sfore fepmn (wfquy) siffTam

(D) A gl | aer Heer sAfufrem

= feu 1o fowedi # 9 G& ¥R 1 999 Hifad
(1) (B), (©) (A), (D)

2 (©. (B), (D), (A)

(3) (D) (A) (), (B)

(4) (A), (B), (O), (D)

Options :
1.1
2.2
3.3
4.4



Question Number : 95 Question Id : 53307219836 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Efforts taken at the International level to address women issues and eradicate violence against
women : Arrange in a chronological order.

(A) Sustainable Development Goals

(B) Beijing Platform for Action (BFFA)

(C) Convention on Elimination of all forms of Discrimination Against Women (CEDAW]

(D) Vienna Declaration

Choose the correct answer from the opl'inns given below :

(1) @) (4)©) )

@ @) @) D)
() (A)®)(C D
4 (C)()(B;(A
Options :

1.1

2.2

3.3

4.4

Question Number : 95 Question Id : 53307219836 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wfeetel o e 1 T F SR fer % foe o S  fow s W w e e
3] FIATHRA H oo o ;

(A) T foRr A5

(B)  ffem iz i TR (SR

(C) oA &1 TEATHYA ST affel T S feafmimm s e (Wesiesd)

(D) fore feeitom

e fog o ferred o @ el S 1 9 A

(1) D) (A) (©) ®)

@ () (), (D), C
(3) (A) ®), (C) (D)
@ (©, (D) @) (4)

Options :
1.1
2.2



3.3
4.4

Question Number : 96 Question Id : 53307219837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The efforts of Government of India to mainstream Women Studies in the Higher Educational
[nstitutes or Universities : Arrange na chmnolngical order.

(A) Towards Equality Report

(B) Indian Association for Women Studies

(C) Women India Association

(D)  Establishment of Women Studies Centre (WSC) in the Universities by the UGC
Choose the correct answer from the options given below :

() (), € () D)

@ (© (a) D) @)
() (A) @), (C) D)
() (), (€ O) (A
Options :

1.1

2.2

3.3

4.4

Question Number : 96 Question Id : 53307219837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e efore e aqen favaformerd o o cteRR ) TEr R W A % S R & P
Wﬂﬂﬁﬂaﬁﬂﬁﬁ:

(A) 7y e e

(B)  3fE TGO BR A1 R

(C) s 3frean Ty

(D) et g fevaeramere & i T Eid HeR (Torqwed) i e

7 feu T foered # | W SO T e

) @), ©), ®) D)
2 (O (4), (D) (B)



Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 53307219838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the Women Development approaches on the basis of their order :
(A) Welfare

(B) Equity

(C) Anti poverty

(D) Empowerment

Choose the correct answer from the options given below :

(1) (A) (B) (O (D)

(2) (D), (©), (B), (A)
(3 (©, (B) (A) (D)
(4) (B), (D), (A), ©
Options

1.1

2.2

3.3

4.4

Question Number : 97 Question Id : 53307219838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tfeen faswma SUMTH o1 3TF FH F AN W AL Fi
(A) FHeET

(B) HH

(C) Tedaa-fars

(D) HIIRIRIT

= feu v fasredi § 9 9 3O & =9a4 i

(1) (A), (B), (O), (D)

(2) (D) (©), (B), (A)

3) (©), (B), (A), (D)

(4) (B), (D), (A), (©)

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 53307219839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

List out the Sustainable Development Goals as defined by the United Nations-Arrange in
chronological order :

(A) Reduced Inequality

(B) Partnership for the goals

(C) No poverty

(D) Decent Work and Economic Growth

Choose the correct answer from the options given below :
(1) (A), (B) (€ and (D)

(@ (), (C), (D) and (4)
() (©) (D) (A) and (B
(4) (D) (A) (B)and (C)

Options:
1.1
2.2
3.3
4.4



Question Number : 98 Question Id : 53307219839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T T G (FAEeE ) 510 Wi foru 0 e o @l 0 e o et e
(A) S H F

B) el o for W

C) R fean el

(D) R T & anfefF 9fg

7 feu o fomredi o @ Wl SR 79 F

(1) (A),(B) (C) 3 (D)
@ () (), (D) (@A)
(3) (0 (D) (A) R (B)
(4 (D) (A) (B) 3R ()
Options :

1.1

2.2

3.3
4.4

Question Number : 99 Question Id : 53307219840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which is the correct chronological sequence of stages of development of feminist research ?
(A) Research on sex differences based on biological properties of individuals

(B) Research on individual level sex-roles and socialization

(C) Research on gender as an organising principle in all social systems

(D) Research based on men’s experiences

Choose the correct answer from the options given below :

(1) (8), (D) (A)and ()

(2) (D) (4), (B) and ()
(3) (A) (B), (C) and (D)
(@) (©), (D) (4) and (B)
Options :

1.1

2.2

3.3



4.4

Question Number : 99 Question Id : 53307219840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ARTETET I ¥ faehTd & =0 o1 Wl HIAgEH F E 2
(A) =AfaEl & Ao derol | e S sl Wiy
(B) wAfFTa TR wifier faewieii SR WS 9 iy
(C) Tefi gt i H WAt fag & ®9 # Sgd W Iy
(D) &I F YAl T SN Iy

= feu v fasredi § 9 9 3O & =994 i

(1) (B), (D), (A) 3R (O)

(2) (D) (A), (B) R (C)

(3) (A), (B), (C) ¥R (D)

(4) (©), (D), (A) 3R (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 100 Question Id : 53307219841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in a chronological order :
(A) Nutrition Programme for Adolescent Girls

(B) National Rural Health Mission

(C) National Health Policy

(D) Integrated Child Development Service

Choose the correct answer from the options given below :
(1) (A), (B), (©) and (D)

(2 (B), (O, (A) and (D)

() (O, (B) (D) and (A)

(4) (D), (O (A) and (B)

Options :
1.1



2.2
3.3
4.4

Question Number : 100 Question Id : 53307219841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafad 1 Ferss | sTaftem w1

(A) I YHITH i TEoiEe Ted

(B) YA T v fayM

(C) e oo Giferdl

(D) IS HEcs SadgH= Hfead

== feu U ferredi § € W& IO I I HifC
(1) (A), (B), (Q) ¥R (D)

2 (B), (©), (A) &R (D)
3) (O, (B), (D) #R (A)
4) (D), (O), (A) 3R (B)
Options :

1.1

2.2

3.3

4.4

Question Number : 101 Question Id : 53307219842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the fo]J{meg n a chmnulngical order on the basis of their year of establishment

(A) National Institute for Micro, Small and Medium Enterprises (NI-MSME)
(B) National Institute for Entrepreneurship and Small Business Development
(C) Women Entrepreneurship Platform

(D) Small Industries Development Bank of India

Choose the correct answer from the options given below :

(1) (B), (), (D) and (4)

(2 (A), (B), () and (D)
(3 (A) (8), (D) and (C)
(@) (© (D) (B) and (A)



Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 53307219842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa it 37 FersraTar safe Fife

(A) U 3G B HISHI, TS TUE HifeqH T=Iumssis
(B) YN TEIEYE X A=Y U0e e fasi Saeianue
(C) = TH=RRY Wt

(D) TS 32 SIAYHS o % e

= feu o fawedi o 9 G& ¥R 999 Hifad

(1) (), (Q), (D) 3R (A)

(2) (A) (B), (C) TR (D)

(3) (&), (B), {D)aﬂuq

(4) ( ), (D), (B) 3R (A)

Options :

1.1

2.2

3.3
4.4

Question Number : 102 Question Id : 53307219843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



According to W.W. Rostow (1960) there are five steps in the evolutionary modernization-Arrange
in chronological order :

(A) Take off stage

(B)  Drive to maturity

(C) High mass - consumption

(D) Traditional Society

(E)  Pre-conditions for take off stages

Choose the correct answer from the options given below :

1) ®) @), ©) ) E)

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 53307219843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T, 3, TR (1960) % ST foreprarae) Snegfeprenaen Ot S0 €, 3% SHCTAMIAR, Safeeqd iforg|
(A) 3T

(B) i &l AR WA F
(C) o -39
(D) TP HHTS

(E) e srawel o foru o spaifea

el few T foeredl § ¥ Wt S T I
(1) (), (A), ©), D) (E)

@ O) ) @), 6 ©
() (A)(B), (C), D) (E
(@) (A)(©) [O) (E) (B

Options :
1.1
2.2
3.3



4.4

Question Number : 103 Question Id : 53307219844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Steps to be followed in research-Arrange in chronological order :
(A) Identifying methods

(B) Formulating objectives

(C) Problematizing research

(D) Analysis and Intrepretation

Choose the correct answer from the Dptiuns given below :

(1) () (A) (O, (D)

(2)  (©), (B). (A) (D)
(3) (A) (B), (O), (D)
(4)  (©), (D), (B), (A)
Options :

1.1

2.2

3.3

4.4

Question Number : 103 Question Id : 53307219844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

MY F FIC HATHOMT =01 - FIAFHATHR Hafedd Hifo |
(A) TIRIeHT Ty s = fafy

(B) oG TS

(C) 99 §HE

(D) Torgeror ws wfagres s

= feu 7o faepedi § € Q& IO 1 =994 i

(D (B), (A), (©), (D)

2) (Q), (B), (A), (D)
(3)  (A) (B), (©), (D)
4) (Q), (D), (B), (A)
Options:
1.1

2.2



3.3
4.4

Question Number : 104 Question Id : 53307219845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Schemes and ngrammes for Vocational Tl'ainmg and Skill Development of women - Arrange in
chmnological order on the basis of their date of in1plem5ntation :

(A) National Adult Education Programme

(B) Central Social Welfare Board

(C) National Skill Development Mission

(D) Mahila Samruddhi Yojana

Choose the correct answer from the options given below :

(1) (), ®) ©) [O)

2
—
O
e X
=
_—
—
s
.---.,.-.._\
==

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 53307219845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ferl % foru eamtees e v sk o fer T vl 2 2 - IR Sraie Fe
(A) T = fen amw

(B) A HHITSE Fedm o

(C) T et g e

(D) el g AR

7 feu o fomredi o @ Wl SR 79 F

(L) (@A) ®) (©) D)
@ © D) &) @)
3 ®)(4), [O) ©
(@) ©) (@A) B)

Options :



1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 53307219846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Government of India has formulated policies for education in India since Independence - Arrange
in a chronological order :

(A) New Education Policy

(B) National Educational Policy

(C) Kothari commission

(D) National Committee on Womens Education

Choose the correct answer from the options given below :

(1) @) ©) 6) (&)

Options:
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 53307219846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T % T T W A R # e o 9 g R B 3 A st Fi
(A) % fo A

(B) T e A

(C) IR FHH

(D) wfeen e R T wffa

A fou U fomredi o @ W@ S T Fio

() () (C) (), (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 53307219847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the fnllnwing measures are included in Gender Sensitization training ?
(A) Increasing the number of women in executive roles

(B) Promoting societal awareness to gender issues and womens rights
(C) Establishing quotas for women's representation in media

(D) Limiting legal frameworks related to gender issues

Choose the correct answer from the options given below :

(I) (A) and (B) only

(2) (), (C) and (D) only

() (C)and (D) only

(4)  (A),(C) and (D) only

Options:
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 53307219847 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

frefafaa surdl § 9 ®R-FF SAfTes gageiea gfaer 5 afwfem € 2
(A) wTEE yfweret] | wieen i g # gfs

(B) ©ifiTer Hgal Ud Wigen ARl o Wid | SRSkl sl aerel
(C) witfear ¥ wfeen fafferce 8 ARG (F1T) T TG

(D) <t HEl ¥ Gafera S gt ot wifha F

= fau o fasedi o 9 W S F 999 FHifO
(1) e (A) 3N (B)

(2) %9 (B), (C) 3R (D)

(3) %9 (C) 3R (D)

(4) A (A), (C) (D)

Options :

1.1

2.2

3.3

4.4

Question Number : 107 Question Id : 53307219848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ayushmﬁn Bharat aclnpts a continuum of care appmach comprising of two which inter-related
components ?

(A) Establishment of Health and Well being centres

(B) Pradhan Mantri Jan Arogya Yojana

(C) Village Level Programmes

(D) Livelhood Entreprise Development Programme
Choose the correct answer from the options given below :
(I) (A)and (B) only

(2) (A), (C) and (D) only

() (B), (0 and () only

(4) (C) and (D) only

Options :
1.1
2.2
3.3



4.4

Question Number : 107 Question Id : 53307219848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

M YR € W T2l arel Tad SEUTe SUFTH 219 €, S €
(A) TETEA Ud FHEdT gl ohl Tl

(B) UHTFHS S IR A1

(C) 7T WA FTwT

(D) SHta-ar9 3eH oy FTdsFH

Tr= feu o fowredi § 9 Qe SO FH 9949 FHIf9U :

(1) e (A) TR (B)

2) A (A), (O) (D)

—

3) %ad (B), (C) R (D)
(4) %FFd (C) ¥R (D)

—

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 53307219849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are types of Interviews ?

(A) Structured Interviews

(B) Telephonic Interviews

(C) Multiple-choice Interviews

(D) Non-directive Interviews

Choose the correct answer from the options given below :
(1) (B), (C) and (D) only

(2) (A)and (D) only

(3) (A), (B) and (D) only

(4) (B) and (C) only

Options :
1.1



2.2
3.3
4.4

Question Number : 108 Question Id : 53307219849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafeg # ¥ -1 9 RN & YRR & ?
(A) FIEAHE HIAEHR

(B) fAHM W HIATEHR

(C) wg-=49" HI&ehI

(D) TR-TAEmeTe HIETEhR

1 fou MU foredi ® 9 W& ST Rl 991 it
(1) %9 (B), (C) &R (D)

(2) 9 (A) (D)

(3) ad (A), (B) 3R (D)

(4) FFA (B) IR (C)

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 53307219850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What are the common methods of data collection in research ?
(A) Interviews

(B) Experiments

(C) Literature Survey

(D) Analysing Financial Records

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only

(2) (A), (B) and (D) only

(3) (B), (O) and (D) only

(4) (B) and (D) only



Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 53307219850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y o SATRel TUE i gur faferai fe-11 € 2

(A) HIETERR
(B) WM
(C) wifec GHian

(D) anfefek weral =1 faveram

H3 feu o faeredl ¥ @ W@ ST 1 9 i
(1) = (A), (B) ¥R (O)

(2) 9 (A), (B) R (D)

(3) %9 (B), (C) ¥R (D)

(4) %ad (B) ¥R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 110 Question Id : 53307219851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is correct about ‘Personal Laws' ?

(A) Family laws differ from person to person according to her/his religion

(B) Family laws are related with the maternity benefits to the working women

(C) Family laws are personal laws

(D) Family laws are related with devolution and disposition of family property, maintenance
succession and inheritance

Choose the correct answer from the opl'iuns given below :

(1) (A), (B) and (C) only

() (B) () and (D) only
(3) (A), (B) and (D) only
(4) (C) and (D) only
Options :

1.1

2.2

3.3

4.4

Question Number : 110 Question Id : 53307219851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"SR T (T @) R H A-E T T

A) “TIETTE FA oW % SR T GO d S-S A

B) ‘Taie FA' TS Higanel & Sfd % @l ¥ Gafed 2 ¢

C) ‘wftEfe F ‘i FH §

D) ‘wiarier A’ wieres S, SRe, SR Td Gt o A U6 o |
el feu U ferpedl o 9 W& S H T4 T ;

A), (B) &R (C)

-

(
{
{
(

efel (
e
el (A), (BJvﬂuDJ
e

Options :
1.1
2.2
3.3
4.4



Question Number : 111 Question Id : 53307219852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are considered by the Neo-classical Economists” explanations for gender
wage [nequalities ?

(A) Women's prioritization of family over market work

(B) Women's choices in low paying occupation

(C) Fewer and different kinds of schooling for women

(D) Men's choices in higher paying occupations

Choose the correct answer from the opl'inns given below :

(1) (A), (B) and (C) only

(2) () (C) and (D) only
(3) (A)and (D) only

(4 (A) (C)and (D) only
Options :

1.1

2.2

3.3

4.4

Question Number : 111 Question Id : 53307219852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frreifctfiga & & fepien CifTer Wil STRAIIST a1 79 FAGET SAMGT 1 e HH S & 7
(A) ISR F14 W IR i Hfew mafierm

(B) W 3 act Ao ¥ wfeanal 1 7

(C) wfeen et o wifia Tal fofir gam

(D) o o Tl AN W Gl T

e fou T foedl © ¥ W@ SR 79 o
(1) e (4), (B) IR ()

(2) e (B), (C) ¥ D)

(3) A (4) R (D)

(4) @ (A), () R (D)

Options :

1.1

2.2



3.3
4.4

Question Number : 112 Question Id : 53307219853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Data analysis steps include :

(A) Coding

(B) Classification

(C) Designing the research

(D) Documentation

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(2) (A), (B) and (D) only
(3)  (B), (©) and (D) only
4) (A), (C) and (D) only
Options :

1.1

2.2

3.3

4.4

Question Number : 112 Question Id : 53307219853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sk e 3 =  wfifer ¥ -

(A) RIfET (Faon)

(B) EieRTO

(C) ¥Y Yehod AR LAl

(D) YeorEH

= feu v fasredi § 9 9 3O & =9a4 i
(1) ad (A), (B) R (C)

(2) E (A), (B) 3R (D)

(3) 4 (B), (C) R (D)

(4) a4 (A), (C) R (D)

Options :



1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 53307219854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which techniques are considered to be a part of the qualitative research methods ?
(A) Ethnography

(B) Oral History

(C) Structural Interviews

(D) Case studies

Choose the correct answer from the D]J[i{_‘iI'lS given below :

(1) (A), (C) and (D) only

(2) (A), (B) and (C) only
(3)  (A), (B) and (D) only
(4) (B), (C) and (D) only
Options:

1.1

2.2

3.3

4.4

Question Number : 113 Question Id : 53307219854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



feperen wTTene v fafersli o1 st W S © 2
Fenfa =t

(B) Witk sfae

(C) HIHAHS: HIARR

(D) Y AT

= feu v fasredi § 9 9 3O & =94 i

(1) a9 (A), (O) (D)

(2) I (A), (B) 3R (C)

(3) E (A), (B) 3R (D)

(4) & (B), (C) 3R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 53307219855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How does economic empowerment of women enhance their status in the famjly ?
(A) It increases their status.

(B) It has no effect.

(C) It increases their access and control over resources.
(D) It improves their decission making power.

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

@) (A), (C) and (D) only

) () (C) and (D) orly

(4 (C) and (D) only

Options:
1.1
2.2
3.3
4.4



Question Number : 114 Question Id : 53307219855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ufeenell 1 snfeer aufamero afer § et feafa 9 gafida s g2
(A) TE 391 Feafa § gfg Fa1 2|

(B) THH FIE UWH T U=l B |

(C) 08 FOrHAl W I9HT 9gd i frem & gfg St €

(D) 7% 39F g M § guR @l ¢ |

= feu v fowed § 9 W SO 1 =TI Fifeu
(1) e (A), (B) 3R (C)
(2) %9 (A), (O) &R (D)
(3) e (B), (C) N (D)
(4) 9 (C) ¥R (D)
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 53307219856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How has the dealing of human tratficking shifted over a period ?
(A) From asocial problem to a legal issue

(B) From a legal issue to a economic concern
(C) From a legal problem to a social issue with a focus on victim protection
(D) From a criminal justice issue to an environmental problem

Choose the correct answer from the Dptiuns given below :

(1) (&), (B), (C) and (D) only

(2) (), Q) (D) and (A) only
(3) (©), (D), (B) and (A) only
(4) (D) (A), (B) and (C) only
Options :

1.1

2.2

3.3



4.4

Question Number : 115 Question Id : 53307219856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GO 3 W1 HFe TR/ SR & gt o Ha1 s 1@ & ?
(A) wHIfSes a9 fafue qaat

(B) Taftres Hee § Afde TUHR

(C) Tfafay qeg ¥ difed & 92 shfga QHis® q
(D)  TOUfeeR =g Heid qoe | TRy e
= feu v fasredi § 9 9 3O & =94 i

(1) ¥ (A), (B), (C) 3R (D)

(2) %9 (B), (), (D) ¥R (A)

(3) = (O), (D), (B) ¥R (A)

(4) =S (D), (A), (B) 3R (C)

Options :

1.1

2.2

3.3
4.4

Question Number : 116 Question Id : 53307219857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Queer theory is related to :

(A) Gay and Lesbian Politics

(B) Usefullness of gendered binary distinction

(C) Promoting Homo Sexuality

(D) Promotion of Sexual identifies

Choose the correct answer from the options given below :
(I) (A) and (B) only

() (A), (B) and (C) only

(3) (A) and (C) only

(4) (A), (B) and (D) only

Options :
1.1



2.2
3.3
4.4

Question Number : 116 Question Id : 53307219857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fer fogia dafud @

(A) TEY GHfET AR wieed R i TSI
(B) eifiter Tgug fearawor =t Suifiran =61 994
(C) EHfGT FifehaT Sl s

(D) ifek Te=m =l F@ral

== feu e ferredi § € W& I I I HifC
(1) Faa (A) 3R (B)

)

(2) 9 (A), (B) R (C)
(3) dEl (A) 3R (C)
(4) = (A), (B) 3R (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 117 Question Id : 53307219858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the critique of the Post-Modern theorists on Women Studies ?
(A) Women Studies effectively addresses all aspects of identity including race and class.

(B)  The concept of women's identity is coherent and clear
(C) Women Studies prioritize gender over race or class
(D) Women Studies are only for women community

Choose the correct answer from the options given below :
(1) (A), (B) and (D) only

(2) (A), (B)and (C) only
(3) (B) and (C) only
@ () (C)and (D) oy



Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 53307219858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR e gl Ml R o Ga 3 o g A | 7

(A) e e FoTel #9 § T T o Hied T o o vl o et e €

(B) e eHfird ot Sl o W ¢

(C) e eteze SR Afore, -t 1 &, e o G Vel 1 A o FA & S e @
o fieRel < €|

(D) e e et Higen G o SEHEH F B

3 o o e 9 W T T A
(1) % (4), (B) W (D)

() a (4), (B) &N (C)

(3) ad (B) 4R (C)

(4) e (B), (C) M D)

Options :

1.1

2.2

3.3

4.4

Question Number : 118 Question Id : 53307219859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List - I List - II

) Women India Association (WIA) (I)  Ela Bhatt

) All India Women's conference (AIWC) (I) Aruna Asaf Ali
) Seli-Employed Women's (SEWA) Association (II) Margaret Cousins
) Quit Indian Movement (QIM) (IV) Annie Besant
hoose the correct answer from the options given below :
1) (A, (B)-(V), (Q)-(I), (D))

2)  (AHIV), (BIIL), (OH), (D)-(1)
3 (I) (B}(1), (C)-(I), (D}IV)
4 (1), (BH{1), (O-{0), (D}-(IV)

(A
(B
(€
(D
C

{
(
{
(4) (A

)
Y
) (A)-
) (A)-
Options :
1.1
2.2
3.3

4.4

Question Number : 118 Question Id : 53307219859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gelt-1 9 gei-11 1 e ifa

el eI
(A) FHu Hea TR (S5 3M..N) O %
(B) &Mt Efean Y FIHEH (T 3 3 H1) (Il) 5% STHE e
(C) Teh-STIHE JHY THHUH(THE $.0) () Tl Fifdy
(D) T BT e (V) 3
4 fou o faredi § @ W@ S 1 999 Ffe0

(1) (AHID, (B)-(V), (O, (D)-(1)

(2)  (A)IV), (B, (CD), (D)-(I)
(3)  (A)MI), (B, (C(IL), (D)-(IV)
(4) (A, (BHID, ©)-1), (D)-1V)
Options :

1.1

2.2

3.3



4.4

Question Number : 119 Question Id : 53307219860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1L

List - I List - 11
(Commissions/Institutions) (Year of Establishment)
(A) National Commission for Women () 1993
(B) National Commission for Minorities (II) 2004
(C) National Commission for Protection of () 1992
Child rights

(D) National Institute of Public Co-operation  (IV) 1980
and Child Development

Choose the correct answer from the Dptinns given below :

(D) (A0, BHIV), (CH(II), (D))
(&) (AHIV), (BIL), (OH1), (D)-(I)
(3) (A, (B)-(I), (L), (D)-(IV)
(4) (AN, B)-(I), C}(1V), (D))
Options :

1.1

2.2

3.3

4.4

Question Number : 119 Question Id : 53307219860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



gt-1 § GEii-11 =1 frer #ifse .

‘\‘ﬁﬁ-l -11
( JTIF/HEAT ) ( T o )
(A) T Aige s () 1993
(B) TR eqd&A® AN (I) 2004
(C) U a1 3TferepR TRE0T S (Im) 1992
(D) T Tk Ted Us o foehs 98 (IV) 1980
= fou T fasedi § § & IO F =9 FHiWT ;

(1) (A)-D), (B-(IV), (C)-(IL), (D)-(L)
(2)  (A)IV), (B)-(ID), (C)(I), (D)-(IT)
(3) (A, (B)-(D), (O-(II), (D)-(1V)
@) (A)-(D, B)-{D, ©)-1V), (D)-[0)

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 53307219861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the offences in List - I with sections of [PC deal with offences in List - IL

List - I List - I
Offences Section
(A) Kidnapping for Exporting (I)  Section 354 (D)
(B) Stalking (I) Section 372
(C) Molestation (Ill) Section 360 IPC
(D) Selling of Minors for Prostitution (IV) 354-IPC

Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(LL), (C}-(L), (D)-(IV)

(2) (A, (BH(D), (O-(IV), (D)-(I)

(3)  (A)-(IV), (B)-(IM), (C)-(1), (D)-(I)

(4) (A, B)-1V), (C)-(0), (D)-(I)

Options :

1.1



2.2
3.3
4.4

Question Number : 120 Question Id : 53307219861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 fAem i

Teii-1 THI-11

( 3T ) (&mT)
(A) Traia = foe sqeao (I) = 354 (20
(B) Ih-Tuert W=t el (I) 1 372
(C) v (II) ©IRT 360 WI.E.4.

(D) <=vAgd &g aa%h &1 fawd (IV) 354-91.2.9,
= fou 7o faredl § € W& TR #1994 Fif

() (A)-D), (B)-(I), (C)-(II), (D)-(IV)

(2)  (A)-(II), (B)~(I), (O)-(IV), (D)-(IT)

(3)  (A)IV), (B)(II), (O)-(I), (D)-(ID)

(4) (A1), (B)-(IV), (O)-(), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307219862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.

List - I List - II
(Book) (Authors)

(A) Employment of Women in South Asia (I)  Amanda Root
Concepts and Practices

(B) Woman to Woman An Introduction to (I) Samita Sen
Feminism

(C) Towards a Feminist Politics The Indian (I} Radha Kumar

Movement in Historical Perspective
(D) The History of doing : An [llustrated Account (IV) Grilatha Battiwala
of Movements for Womens Rights and Feminism
in India
Choose the correct answer from the options given below :
(1) (A)HIV), (B)-(LL), (C)-(1), (D)-(IL)
(2)  (A)HD), (BR(II), (C-(L), (D)-(IV)
(3) (A, (B)-(D), (C-1V), (D))
(4) (A, B)-V), (C)-(IL), (D)-0)
Options :
1.1
2.2
3.3

4.4

Question Number : 121 Question Id : 53307219862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tell-1 9 i1 1 e it

-1 THt-1l
(T ) (vE®)
(A) FemHe iw g 3 9y T Hee we iie () o &
(B) T Z T : T e g (1) o &
(C) ared © Hfufee dferfey fo e garie () T FAR
fewife Teufea
(D) fe fewdt offth <31 : W Teeee WehRe G qEden T (IV) e sresiar
TG Ted s it o e
e feu mu ferredt & § W& SR H 99 W ;

(D) (AHLV), (B)-(L), (C)-(1), (D))
(@ (AHD, BRI, (OHI), (D)-{V)
() (A)MI), (B)(D), (CH1V), [D}(I)
(4)  (AHID, B-IV), (O)-(I), D)0
Options :

1.1

2.2

3.3

4.4

Question Number : 122 Question Id : 53307219863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - I1
(Schemes/Programmes) (Year)
(A) Rashtriya Krishi Vikas Yojana (RKVY) () 2007
(B) Pradhan Mantri Swasthya Suraksha (Il)y 2005
Yojana (PMSSY)
(C) Sukanya Samriddhi Yojana (SSY) (IIL) 2006
(D) Janani Suraksha Yojana (JSY) (IV) 2015

Choose the correct answer from the Dptiuns g'wen below :

(1) (A1), (BR(II), (O-(1V), (D)-(I)
(2) (A1), (B)-V), (O-(IL), (D)-(1)
(3) (A, (B)-(11), (O)-0), (D)-[IV)
(4)  (AHIV), (B)-(ID), (Q)-(1D), (D)-(1)

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 53307219863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 8 geft-11 1 foei s
get-1 Et-11
( TSHT / TR ) (Fd)
(A) T FiY fawm dem (3R % o 91) Iy 2007
(B) WM i Tamed Gl Ao (0 W U T o) (1) 2005
(C) TF= wfg A (TH TH ) (1) 2006
(D) ST TN A (S T =) (IV) 2015
A fou U fospedl # € W& IO A T FHIC
(1) (A)AD), (BRI, (CH1V), (D)-(I)
(2) (A1, (B)-(IV), (C)-(II), (D)-(I)
(3)  (A)I), (B)«ID), (O)-0), (D)-(IV)
@) (A)(IV), (B, (O)-(11), (D)-(I)

Options :



1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 53307219864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - II

(Acts) (Year of Establishment)
(A) The Protection of Women from () 1986

Domestic Violence Act
(B) The Dowry Prohibition Act (I) 2005
(C) The Indecent Representation of (II) 1961

Women (Prohibition) Act
(D) The Commission of SATI (Prevention) Act  (IV) 1987
Choose the correct answer from the options given below :
(1) (A, (BRI, (C-(IV), (D)-(1)
2) (AN, (B)-(IT), (©)-(T), (D)-(IV)
(AHIV), (B-(D), (C)-(I), (D)-(IT)
(A

(
()
(4) (AR, B)-(L), ©)-0), (D)-IV)

Options:
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 53307219864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tell-1 § Gell-11 =1 s i

'ﬂj‘]‘-l -11
( wferfam ) ( wferfams ad )
(A) wfeen =te e e sfufem (I) 1986
(B) <ol wfawy arferfram (I) 2005
(C) i e wuu (yfquy) st (1) 1961
(D) Wil (I, FHamu smEn siefam) (IV) 1987

A feu o famredi # B W& S9N 1 =99 Ff6
(1) (A)-(D), (B}-(IL), (CH(IV), (DRL)
(2 )<(II), (B)~(1D), (C)-(I), (D)-(IV)
(3 )-(IV), (B)-(I), (C)~(I11), (D)-(IT)
( )~

4 1), (B)-(IL), (©)-(1), (D)-(1V)

)
)
)
) (A

(A
(A
(

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307219865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is a function of Gender representation in media ?
(A) To increase the number of advertisements featuring woman in traditional roles

(B) To remove demeaning degrading and negative stereotypical images of women
(C) To promote gender specific content for different media platforms
(D) To prioritise media coverage on men’s achievements over women’s achievements

Choose the most appropriate answer from the options given below :

(1) (A), (B) and (C) only

(2) () and (C) only
(3) (A), (B) and (D) only
(4)  (A) (C) and (D) only
Options :

1.1

2.2

3.3



4.4

Question Number : 124 Question Id : 53307219865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fr=fefaa # 4 ifen § et vfofife & 1e 2w #6-3 €7

A) Tl e  wfeeai @ e e drel foRo| i gen 1 gie we
(B) wleensil i STUfafsd e arell, STTHH S 3R ThRHF Teag Jfadl &l s2Ml
() fafem whfem & =i w fein fafore faverew S e

(D) wfeenal 1 Syaferdi Fi 2me T5Y Sl @ Fet F H mefiera

A feu o fomredi o @ WE A F T I ;
(1) e (A), (B) 3 ()
(2) e (B) 3 (C)
(3) e (A), (B) 3R (D)
(4) A (A), () ¥R (D)
Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 53307219866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following scales are used in surveys ?
(A) Likert scale

(B) Guttman scale

(C) Bogardus scale

(D) Scale of autonomy

Choose the most appropriate answer from the options given below :
(1) (A), (B), (C) and (D) only

(2)  (B), (©), (D) and (A) only

(3) (A), (©) (D) and (B) only

#) (8, (©), (A) and (D) only

Options :

1.1



2.2
3.3
4.4

Question Number : 125 Question Id : 53307219866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Telero # 39T fRT oM ot frefafea 5 e o S w98 2 2
(A) forere YuT

(B) TEHA GHTI

(C) @rTres TwmEl

(D) =rgd T

= feu o famedi § @ W& SO 1 =99 FHIfT

(1) < (A), (B), (C) ¥R (D)

(2) 9 (B), (), (D) 2R (A)
(3) % (A), (C), (D) HR (B)
(4) %= (B), (C), (A) 3R (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 126 Question Id : 53307219867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I

List - I List - II
(Authors) (Books)
(A) Mary Daly (I)  The Subjection of Women
(B) John Stuart Mill (II) Feminist Politics and Human Nature
(C) Maria Mies (IIT) Beyond God The Father
(D) Alison Jaggar (IV) Indian Women and Patriarchy

Choose the correct answer from the options given below :
(1) (AR, (BRI, (C)-(I), (D)-(IV)
(2) (A, (B)-(V), (C)-(ID), (D)-(0)
(3) (A, (B)-(T), (CHIV), (D)-(II)
(4)  (AHIV), (B, (C)H(I), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 53307219867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 G-I =1 e s
Ti-1 gHL-11
(*EF ) ( T )
(A) T S () T TeaaH e o
(B) i =i fie (I) ifTE wifafess T gRa T
(C) i wigH (I) sgIE TMiE § Tt
(D) UfeEd S (V) sfre <iF we Yz
1 fou o fomedi ¥ © W@ SO 0 999 F6
(1) (AD), (B)-(II), (C)~(Im), (D)-(IV)
(2) (AL, B)-(IV), (O, (D)-(I)
(3) (A1), (BHI), (C-(IV), (D)-(I)
4) (A)AIV), (B)-(ILL), (C)-(L), (D)-(IT)

Options :
1.1



2.2
3.3
4.4

Question Number : 127 Question Id : 53307219868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - [ with List - IL
List - I List - II
(Concepts) (Definitions)

(A) Production of Goods and Services () ~ Softer emotions, those required in relational
tasks, such as caring and nurturing that
disappear most often from job description,
performance, evaluation and salary

calculation

(B) Emotional Labour (I) A person who has moved from one politically
defined area to another similar area

(C)  Fiscal responsibility (L) When an activity results in a valuable and a
useful thing

(D) Migrant (IV) Measures and costs and benefits that fail to

capture the full contributions of social
protection goals and develo pments and hence
it is real marginal costs

Choose the correct answer from the Uptinns given below :

(1) (AR, (BH, (CH(1V), (DK()

(2) (AT, B)-(), ©)-(), (D)-IV)
() (AH), (B)-(I), (CH1V), DH)
() (AH), BK(I), (CHI), D)-(1V)
Options :

1.1

2.2

3.3

4.4

Question Number : 127 Question Id : 53307219868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



el ¥ -1 1 e e

Tl TI1
(7o) ( aftumr )
(A) Tl v e A R A () T F S e T R T F F i A
WU o A e foem, ¥, o o
T 4 § A48 W e
(B) TR eI (1) 973 S 0 e Terdfeeh U 460§ T & 31 3
T g
() freR Iwaae () @ % fran foreft qomam o At awgell & @9
i <t 2|
(D) Yo (V) 0 3w e iR o < oA g @ o
fiep % ot AT 1 9 e et el & 9 few
e 9 § H 0 £
7 feu T foered o 9 W SO T i

1) (AT, (BHD), (CHIV), (DA
2) (AKI), (B}, ©-(0), DHIV)
3) (AHD), (BHLD), (O-IV), (PHI)
4) - (AH0), (B-(), (CHIL), (D}-IV)

— e ——_p—

(
) B)
) ()
Options :
1.1
2.2

3.3
4.4

Question Number : 128 Question Id : 53307219869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL.

List -1 List - II
(Concepts) (Definition)
(A) Gender Segregation ()  When women enter those well-paying jobs/
fields, they are prevented from moving up
(B) Glass Ceiling (I) Women end up working in long hours both
work place and at home
(C) Double shift/Double burden (I) Itis the proportion of working population to

total pnpu]al‘ion

(D) Work Force Participation Rate (IV) Process in which women and men end up in
different types of occupation so that two
different types of labour markets maybe said
to exist, female and male

Choose the correct answer from the options given below :
(1) (AR, (BRL), (O, (D)-IV)

2)  (AM1IV), (BIH), (CHI), (DLI)

3) (A){I0), (B)-(I), (©)-(1), D)-(IV)
) (AH (D)

y @ 1), (B)-11), (C)-(), (D)-1V)

@
3 (
@ (
Options :
1.1
2.2
3.3

4.4

Question Number : 128 Question Id : 53307219869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



el ¥ -1 1 e e

Tl T
(7em) (firer)
(A) fefm ger () T wfeed fot o1 5 oeh el e €50 8 o e & 3%
TR a7 & fo anfer e e €

(B) TG HfeE (1) e S o Tl R G e T H o A A g

(C) eHWER/TRU AR () T R SN 7 e e § e g

(D) 7 90 F R (V) o b T i IR 5 S € e R o e a0 @
R & Tk wfeen iR 9 2 <) Tt e A W TSI o |

A fe o feredt 9 W S 1 W A

(1) (AMD), (BRI, (CHII), (DHIV)

) (AHIV), (B)I), (CH{I), (D)

3 (AHI, (B)-(, C)-(, (D-IV)

) (AH (DX

(
&
(@) (A, (BIID), (1), (D)-1V)

(
(
(
Options :
1.1
2.2
3.3

4.4

Question Number : 129 Question Id : 53307219870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Authors) (Books)
(A) Susan Brown Miller ()  Women Estate
(B)  Juliet Mitchell ()  Against our Will : Men, Women and Rape
(C) Marge Peercy (IT) The Ethics of Ambiguity
(D) Simone De Beauviour (IV) Women on the Edge of Time

Choose the correct answer from the options given below :
1) (A, B)-(1), (OHLV), (D)-(L)
2)  (ARID), (BHI), (CHI), (D)-(IV)
3) (A, (B)-(IV), (C)4LL), (D)-(I)
4)  (A)(0D), (B}, (C)-(I), (D)-(IV)

—

(A
) (A
)



Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 53307219870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Telt-1 © G111 e shife
Telt-1 Teil-11
(@ ) ( e )
(A) G A firer ) o sRe
(B) dfcee fav (I) & 3R fod : #¥, S 108
(C) el () = Tfya & wfiafied]
(D) oW E-dgam (IV) S 3 8 T8 37 26H
A fou U fomedi § 9 W@ SO F 797 FC ;
(1) (A1), B)-1), (C-IV), (D)-(IL)
(2)  (A)D, (B-(), (C)-(I), (D)-(IV)
(3)  (A)-(Im), (B)HIV), (CO)-(I1), (D)-(1)
() (A)(D), (B}, (C(I), (D)-(IV)
Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 53307219871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(Articles of Indian Constitution) (Issues)
(A) Article 44 (I)  Trafficking in human being
(B) Article 23 (a) (I) Equality before law
(C) Article 14 (IlI)  Uniform Civil Code
(D) Article 51 (Ae) (IV) Dignity of Women

Choose the correct answer from the options given below :
(1) (A)-(I), (B)«T), (C}-(II), (D)-(IV)

(2) (A, (B)-(D), (C)-[V), (D)-(0)

(3)  (A)I), (BR(IV), (C)-(II), (D)-(I)

(4)  (AN(IV), (B)-(I), (C)-(II), (D}-(I)

Options :

1.1

2.2

3.3
4.4

Question Number : 130 Question Id : 53307219871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

geit-1 9 gEi-11 = faem =ifsm

i1 -1

( WTTTT Hiaem & 3 =g ) (Issues)
(A) =% 44 () WE a6l
(B) =% 23 (a) (I fafe & Tme gHa
(C) =T 14 (L) §AH AT Hiedl
(D) 3T 51 (Ae) (IV) R 1 THH
= feu o fosredi § € W& IO T T FHifo

(1) (A)-(Im), (B)-(I), (O(1), (D)-(IV)
(2) (A1), (B)-(I1D), (O)-(IV), (D)-()
(3) (A1), (BRIV), (C)-(III), (D)-(I)
) (A)-(IV), (B)-(I), (C)-(ILI), (D)-(I)
Options :

1.1



2.2
3.3
4.4

Question Number : 131 Question Id
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL
List - I
(Women Leaders)
(A)
(B)
(©)
(D)

Jacinda Ardern
Angela Merkel
Mary Robinson
Gro Harlen Brundtland

: 53307219872 Question Type : MCQ Option Shuffling : No

List - II
(Country)
(I) Ireland
() Norway
(IlI) Germany
(IV) New Zealand

Choose the correct answer from the options giv en below :

(D) (A)-(ID), (B)-(D), (O)-(), (D)-(IV)
(2)  (A)-(IH), (B)-(IT), (C)-(I), (D)-(IV)
(3)  (A)-(IV), (B)AII), (O)-(1), (D)-(L)
(4)  (A)-D), (B}-(I), (C)-(I), (D)-(IV)
Options :

1.1

2.2

3.3

4.4

Question Number : 131 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307219872 Question Type : MCQ Option Shuffling : No



Hel-1 § geA-11 =1 e #ifeg

Tfl-1 GE-11
(wfge =) (g9rr)
(A) SiIfg=] ereq () SAEcivE
(B) U Hebed (I e
(C) H Ufo=aA (IIT) ST
(D) T Beid geeive (IV) =sieie

= feu 7o fasredi § 9 98 39 1 =94 Fife
(1) (A1), (B)-(I), (O)~(I), (D)-(IV)
(2) (A, (B)-(1D), (O)-=(1), (D)-(IV)
(3)  (A)-(LV), (B)~(ID), (O)(1), (D)~(IL)
4)  (A)D), (B(I), (O)~(IL), (D)-(IV)

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 53307219873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(Concepts) (Definations)
(A) Social Status (I)  Itis needs of the women that do not challenge
their socially accepted roles
(B) Practical Gender Needs (PGNs) (I) Itis a honour or prestige attached to one's
position in a society
(C) Gender Mainstreaming (I) Process in which inequalities and

discrimination identified in any given set up
by using various Participatory Tools and
Methods

(D) Gender Analysis (IV) Involves integrating a gender perspective and
gender analysis to all

Choose the correct answer from the options given below :

(1) (AHD), (B}(IV), (CH(IL), (D)-(I)

2)  (AMD), B)-), (CHIV), (DHI)

3) (AN, (B)-(1), (C){IT), (DIIV)

) (A

4) (A1), (B-(L), (CHI), (DHIV)

@ |
@
@
Options :
1.1
2.2
3.3

4.4

Question Number : 132 Question Id : 53307219873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



el ¥ -1 1 e e

Tl T
(o) (ofrwrer)
(A) Tf g () 7 wfeamsl & STavE ¢ & ST e @ &
I Tl <l
() WwFa TR AT () T T VI A GHH F A & S oA o TS W 36 et
Tl £
© fatyesm () 5 vhe o o ok devm g fdt fon o de 9 vem @
et & forel o Swem an ol 1 3wt v e €
(D) fefm ferserom (1v) e & fow a1 sfafifen m € o mof o fefn forwerm of
7 fou T fomredi @ B W@ TR T Fi

(1) (AHD), (BHIV), (CHI), DK()
(&) (AHLD), (B}-D), (CHIV), (DHLD)
() (A, B)-(), (CH), (D-(IV)
() (AH), (B, (CHI), (DRIV)

Options :

1.1

2.2

3.3

4.4

Question Number : 133 Question Id : 53307219874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(Types of Research) (Explanation)
(A) Action Research (I)  Oriented towards measuring organisational
performance
(B) Evaluation Research (I) It seeks to implement policy through the research
ifself
(C) Experimental Research () Designed to test hypothesis under controlled
conditions
(D) Case study Research (IV) Itisnot designed to compare one individual or group
to another

Choose the correct answer from the options given below :
(1) (A, (B}, (C)(Im), (D)-(IV)
2) (A1), (B)-(), (CHIV), (DHI)
3) (AHI), BHD, (CHII), DHY)
§ ), (DA

@ |
(3 (A)
() (AHIV), (B)1), (CH), (DHI)
Options :

1.1

2.2

3.3

4.4

Question Number : 133 Question Id : 53307219874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Teft-1 ¥ 11 1 e i

T el

(9Mer & YT ) (=men )
( () e % Feu o WO Fi S e
(B) T W () 7 e wem & & Afe e e e &
( (111) Fraif feerfs o ofterenmn o1 wliem &0 & for fesied #1
(D) #-Af@ oM (IV) W O o T S G H QO O o (ol TR A
A4 feu U forfedl § § W@ T 1 A FIC
(D) (A)-0), (B)-I), (CO-(m), (DHIV)
) (AHI), (B)-(I), (CIV), (D))
) (AHID, (B)-(), (O, (D)-V)
) (A (D)

2 (
(3 v
(#) (AHLV), B)L), (CHI), (DAL

e

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 53307219875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List - I List - II
(Feminists) (Association)
(A) Pandita Ramabai Saraswati ()  Assam Pradeshik Mahila Samiti
(B) Durgabai Deshmukh (I) Indian National Theatre
(C) Chandraprabha Saikiani (Il) Sharada Sadan
(D) Kamala Devi Chattopadhyay (IV) Andhra Mahila Mandal

Choose the correct answer from the options given below :
(1) (A, (B}-(IV), (C)-(D), (D}(I)

(2)  (AHD, (B}(I), (C)-{I), (D}-(IV)

(8 (AHIV), (B)L{I), (CHIL), (D)-()

4 (AHI), B)-0), (CO-IV), (D)-(I)

Options :

1.1



2.2
3.3
4.4

Question Number : 134 Question Id : 53307219875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gat-1 9 got-11 = fAam =i
gel-1 gHi-11
( AritarEt) ( daifera %)
(A) TfUeSd THEE FEE ()  or5w grefr Afeen wiufd
(B) TS <IE () YR I T
(C) ==u HfRamI (IIl) 9IRET HeA
(D) Wl Sl =2 (IV) 37y H"fgen Head

= feu mu foswmed § 9 W& SO & =999 FIWT
(1) (A)-(), (B)-(IV), (O)-(I), (D)-(II)
(2)  (A)-(D), (B}-(11), (O)-(I1), (D)-(IV)
(3)  (A)AIV), (B)-(IIL), (O)-(11), (D)-(1)
4) (A)-(1D, B)-(I), (O-(1V), (D))

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 53307219876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - 11
(Name of the schemes) (Year of Launch)
(A) Mid day Meal Scheme (Iy 199
(B) Sarva Shiksha Abhiyan (If)y 2015
(C) District Primary Education Programme (IIT) 2001
(D) Beti Bachao Beli Padhao Scheme (IV) 1995

Choose the correct answer from the options given below :
1) (A)HIV), (B)(IL), (C)-(I), (D)-(I)
2 )-(1D), (B)-(I1D), (C)-(IV), (D)-()
3 ), (B}-{ID), (C)-(IMI), (D)-(IV)
4 ), (B)-(I), (CH(I), (D)-(IV)

S — p— p—

)
) (AL
) (A
) (AN
Options:
1.1
2.2
3.3

4.4

Question Number : 135 Question Id : 53307219876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 fAem i

Teii-1 GeE-11

(TSRl ok TH) (ad)
(A) T ST AT () 1994 ¥ STRTY = T
(B) wafvran i (I) 2015 H TR i T

(C) Toren wefier forean dmm (I) 2001 H 3R ki TS
(D) o2 el 9 g@ed A (IV) 1995 H STRW & T
A= fou 7o fasredi § ¥ W8 SO & 994 e

(1) (A)IV), (B)-(IM), (O)~(1), (D)-(IT)

(2)  (A)-(ID), (B)-(ILD), (C)-(IV), (D)-(L)

(3) (A1), (B)-(IN), (O)-IL), (D)-(IV)

(4) (A, (B)~(I), (C)-(1I), (D)-(IV)

Options :

1.1



2.2
3.3
4.4

Question Number : 136 Question Id : 53307219877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - List - II
(Concepts) (Definitions)
(A) Feminism () Social, Cultural and Psychological transformation of
gender
(B) Feminist Education (I)  Physical and Biological distinction
(C) Female (II) Pursuit and Development of knowledge about women
(D) Femininity (IV) Anideological position that struggles to free all women

Choose the correct answer from the options given below :
(1) (A}, BHI), (O-(IH), (D)-(IV)
2) (A, (B}(V), (C)-I) D)-(I)
3) (A, B)-1), (CHIV), (D))
H

@ |
@ |
(@) (AHIV), (BHIL), (CHID, (D))
Options :

1.1

2.2

3.3

4.4

Question Number : 136 Question Id : 53307219877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



el ¥ -1 1 e e
Tl T
(72) (wfeeend)
( (1) feim o1 qires, Sieiod T FAiam S
(B) ! foe (1) fee T S R
( (1) wfEeen () o a5 7 U6 ool o1 Yo 7
( (V) W e feefe < el wfeenal 1 wee @0 o fo wed el &
el feu T foehedl § ¥ WE SR h T I
(1) (A, (B}, (CHIm), (D)-(IV)
(), (BHIV), (C-(1), D)-([)

(
ML), (B)-1), (CHLV), (D))
H

@ @A
() (A
(4)  (AHIV), (BIIL), (CHI, (D)-()

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 53307219878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Artists) (Art forms)
(A) Zaveri sisters () Bharatnatyam
(B) Leela Samson (II) Odissi
(C) Sonal Mansingh (IlI) Kathakali
(D) Geeta Poduwal (IV) Manipuri

Choose the correct answer from the options given below :
(L) (A)HD), (B)-(I), (O)-(), (D)-(IV)

(2)  (A)-(1D), (B)-(IL), (C)-(1V), (D)-()

(3)  (A)-IV), (B)-(D), (C)}-(II), (D)~(1L)

(4) (A)-(I), (B)~(1V), (O)-(D), (D)-(II)

Options :

1.1



2.2
3.3
4.4

Question Number : 137 Question Id : 53307219878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 fAem i

Teii-1 TEt-11

( TR T ) (he )
(A) SRR T= 0 RETI
(B) e A ) shfedt
(C) HiFe HHfEE (III) FoFal
(D) Tiar drEare (Iv) Hforgd

= feu o fawedi § 9 WE S &1 999 FI9T
(1)  (A)-(D), (B}-(ID), (C)~(I11), (D)-(1V)
(2) (A, (B)-(111), (C)-(1V), (D)~(L)
(3)  (A)-(IV), (B)-(D). (C)-(1I), (D)~(11D)
(4)  (A)-(II), (B)-(IV), (O)-(I), (D)~(IL)

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 53307219879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - 11
(Concepts) (Definitions)
(A) Mass media () A communication medium that requires both parties
(B) Synchronous media (I) A communication used to reach out to masses
(C)  Asychronous media () A communication that reaches out to political and social
mimnorities
(D) Alternative media (IV) A communication of information that can be accessed at
any time

Choose the correct answer from the options given below :
(1) (A, (B}, (C)(Im), (D)-(IV)
(2) (A}, (BHIV), (CH), (D)-(1)
() (ARIV), (B)-(I), (CH(), (D}(I)
(4)  (AHID), (B)-(0), (CHIV), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 53307219879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A0, (BRI, (CHIm), (D)-(IV)

@ (AH), BHIV), (W), D)0

() (AHIV), (B)-L), (CH), D}

(4) (A, B)-(), (CHIV), (DA



Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 53307219880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - II
(Five year Plans) (Themes)
(A) Sixth Five Year Plan (1985-90) (I} Women’s Development to
Empowerment of women
(B) Ninth Five Year Plan (1997-2002) (II) Gender Equity and Gender Budgeting
(C) Eleventh Five Year Plan (2007-12) (Il Welfare of Women along with welfare
of disadvantaged groups
(D) First Five Year Plan (1951-56) (IV) Welfare to Development Approach

Choose the correct answer from the options given below :

(1) (AHLV), BHD), (CHI), (D))

(2)  (A)(Im), (BIHI), (1), (D}-IV)
() (AL, B)-{LD), (C)-IV), (D)-(]
(4) (A0, (BHIV), (CH(I), (D))
Options :

1.1

2.2

3.3

4.4

Question Number : 139 Question Id : 53307219880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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@ @
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A

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 53307219881 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Report) (Ranking)
(A) Gender Gap Report 2024 (H 129
(B) Human Development Index 2023-2024 (If) 134
(C) Global Peace Index - 2024 (IIT) 116
(D) Sustainable Development Report 2024 (IV) 109

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(I), (O)-(II), (D)-(IV)

(2) (A1), (B)-(IID, (C)-(IV), (D)-(0)

(3)  (A)-(I), (B)-(IV), (C)-(I), (D)-(II)

(4)  (A)-(D), (B)-(II), (O)-(IV), (D)-(IM)

Options :

1.1



2.2
3.3
4.4

Question Number : 140 Question Id : 53307219881 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 fAem i
Teii-1 THI-11
( fraie) ( gruit)
(A) Toim-siae fidie 2024 () 129
(B) WM fash™ STHATIRR 2023-2024 (I) 134
(C) difyaer wiifa SAsRHIUTRT 2024 (I1) 116
(D) Wad fa=rme fdiz 2024 (IV) 109

= feu o fawedi § 9 WE S &1 999 FI9T
(1)  (A)-(D), (B}-(ID), (C)~(I11), (D)-(1V)
(2) (A, (B)-(111), (C)-(1V), (D)~(L)
(3)  (A)-(I), (B)H(IV), (O)(1), (D)-(II)
4  (A)-(D), (B)-(II), (O)-(IV), (D)-(L)

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 533072777
Question Shuffling Allowed : No

Question Id : 53307219882 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the following passage and answer the questions

Media studies is concerned with the relationship between people, media, life and society, by
examining these relationships through various lenses. Quantitative and Environmental questions explore
who is using which media, while qualitative questions delve into how people interpret media and its role
in their lives, Change is a constant factor in this inquiry. Issues of access, power and democracy also
come into play scrutinizing who owns and controls media and the power dynamics stemming from by
concentrating ownership and corporate agendas. The 2011 news of the world phone-hacking scandal
in the UK highlighted the significant influence of media, bringing these issues to the forefront of public
discussion. Media studies also examines the nature of media texts, using various approaches to deconstruct
how meaning is made within and between texts. This involves studying media audiences with attention
to demographics such as culture, gender, age, sexuality, social class and ability/disability. These topics
are often interconnected, requiring students to develop skills in making connections, synthesizing ideas
and engaging in dialogue between concepts. Although human communication history dates back much
further, and some media histories began as early as 776 BC with carrier pigeons, the advent of the
printing press in 1455 by Gutenberg is often cited as a milestone in communication technology. The
ability to produce in mass scale, the printed world led to mass literacy and significantly transformed
people’s communication,

Sub questions

Question Number : 141 Question Id : 53307219883 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the primary focus of media studies ?
(1) The technical aspects of media production

(2)  The relationship between people, media, life and society
(3) The history of media technologies

(4) The economics of media industries

Options :

1.1

2.2

3.3

4.4

Question Number : 142 Question Id : 53307219884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which event higlﬂighted the influence of media and bmught issues of media power to public
discussion ?

(I)  The advent of the printing press

(2)  The rise of digital media

(3)  The 2011 news of the world phone-hacking scandal
(4)  The invention of carrier pigeons for communication

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 53307219885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What do qualitative questions explore in media students ?

(1) Who is using what media ?

(2) How people interpret media and its function in their lives ?
(3) The environmental impact of media production

(4) The history of media ownership

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 53307219886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What significant technological advancement in 1435 is mentioned in the passage ?
(1) The invention of the telegraph

(2)  The creation of carrier pigeons for communication

(3)  The development of the printing press by Gutenberg

(4) The introduction of the internet

Options :
1.1
2.2
3.3
4.4



Question Number : 145 Question Id : 53307219887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Why are audiences important in media studies ?

(I) It helps in producing better media content

(2) It allows for the examination of media ownership patterns

(3) It provides insight into how different demographics interpret media texts
(4) It focuses on the technical aspects of media creation

Options :

1.1

2.2

3.3

4.4

Question Id : 53307219882 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 53307219883 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 53307219884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3
4.4
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Question Number : 143 Question Id : 53307219885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(4) iifea TErHiE 0 3R
Options :

1.1
2.2



3.3
4.4

Question Number : 144 Question Id : 53307219886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 145 Question Id : 53307219887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072778
Question Shuffling Allowed : No

Question Id : 53307219888 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



Read the following passage and answer the questions,

Radical feminism emerged as a powerful oppositional discourse during the late 1960s. It flourished
during a period of marked upsurge in radical political agitation, such as the student and civil rights
movements, and challenged the epistemological basis of both Marxisms and Liberalism. Radical Feminists,
possessing no single core doctrine which informed their theories, were fragmented from the start, a
process exacerbated by their preference for small group formation, where each individual women could
find a voice and where all tasks could be shared out equally. The groups devised their own consciousness
raising strategies and produced manifestos independently of one another operating as distinct political
‘cells’ that might or might not forge coalitions in cases of distinct action. One result of such discrete and
free floating political activity was that it provoked a degree of criticism from more centrally organized
feminists, such as the liberal tendency that comprised the membership of 'NOW" in the States and also a
large amount of parody from the mass media,

Radical feminisms “invisibility’ as an “organisation” with no identifiable leaders and centres was
perceived to be a major strength by its adherents; they did not subscribe to any one tradition in political
thought and were therefore at liberty to constantly re-invent themselves, Although it would be fair to
assert that radical feminist politics has been most broadly influenced in its work upon issues which
closely affect women's personal, physical and mental well-being. It is difficult to isolate a central
governing principle presenting radical feminist work with other waves of feminism. Perhaps anthologies
such as Robin Morgan's sisterhood is powerful (1970) and Koedt, Levme and Rapone's Radical feminism
(1973) most effectively do justice to the sheer range and heterogeneity of radical feminist perspectives.

Sub questions

Question Number : 146 Question Id : 53307219889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

During which period did radical feminism emerge as a powerful discourse ?
(1) Early 1930s
(2) Late 1960s
(3) Early 1970s
(4) Late 1980s

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307219890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What did radicals feminists challenge as mentioned in the passage ?
(1) Liberalism and Conservatism

(2) Marxism and Socialism

(3) Marxism and Liberalisation

(4) Feminism and Patriarchy

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307219891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was one organizational characteristic of radical feminist groups mentioned in the passage ?
(I)  They had a centralised leadership structure

(2) They formed National Organization

(3) They preferred small group formations

(4)  They relied heavily on mass media for communication

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 53307219892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is true about the radical feminist groups strategies ?
(1)  They devised consciousness raising strategies independently

(2) They operated under a single manifesto

(3) They avoided direct action

(4) They had a hierarchical organization structure

Options :
1.1
2.2
3.3
4.4



Question Number : 150 Question Id : 53307219893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who proposed the concept of ‘Sisterhood” ?
(1) Robin Morgan

(2) Koedt
(3) Levine
(4) Rapone
Options :

1.1

2.2

3.3

4.4

Question Id : 53307219888 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions



Question Number : 146 Question Id : 53307219889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307219890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:

1.1

2.2

3.3
4.4

Question Number : 148 Question Id : 53307219891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :



1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 53307219892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:

1.1

2.2

3.3
4.4

Question Number : 150 Question Id : 53307219893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.1

2.2

3.3

4.4





